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Question Numbers : (1 to 5)

Question Label : Comprehension

The following table shows the distance travelled by a boat moving upstream (in km) during five
different days of a week from Monday to Friday, along with the speed of boat (in km/hour), speed
of stream (in km/hour) and total time taken (in hours). Some data is missing in the table (indicated
as ') that you are expected to calculate, if required. Based on the data in the table, answer the
questions that follow.

Day-Wise Distance covered by a Boat and other Details

D Distance Speed of Speed of Total Time

i Upstream(km)|Boat(kmyhour)| Stream(km/hour) [Taken(hours)
Monday 320 - 4 -
Tuesday - - - 75
Wednesday 270 - 6 -
Thursday - 11 7 -
Friday 324 - - 72

Note: (1) Distance Upstream = Distance Downstream, if not stated otherwise
(2) Total Time Taken = Downstream Time + Upstream Time



Sub questions

Question Number : 1 Question Id : 87827038746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

On Friday, if the ratio of speed of boat to speed of stream is 2 : 1, then what is the difference
between the time taken by the boat to go upstream and to go downstream ?
(1) 36 hours

(2) 42 hours
(3) 45 hours
(4) 35 hours

Options :

878270152241. 1
878270152242. 2
878270152243. 3
878270152244. 4

Question Number : 2 Question Id : 87827038747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

On Monday, if the difference between the time taken by the boat to go upstream and to go
downstream is 20 hours, then what is the total time taken by the boat to go upstream and
downstream ?

(1) 40 hours

(2) 30 hours
(3) 80 hours
&

4) 60 hours

Options:
878270152245. 1

878270152246. 2

878270152247. 3



878270152248. 4

Question Number : 3 Question Id : 87827038748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

On Tuesday, if the difference between the time taken by the boat to go upstream and downstream
is 45 hours and the downstream speed is 24 km/hour, then what is the total distance covered by
the boat to go upstream and downstream ?

(1) 680 km
) 720 km
) 740 km
)

(2
(3
() 540 km

ey

Options :

878270152249. 1
878270152250. 2
878270152251.3

878270152252. 4

Question Number : 4 Question Id : 87827038749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

On Wednesday, if the boat covered half of the distance upstream with usual speed and other half

3
with double its speed and it takes 331 hours less time the usual time to go upstream, then what is

the total time taken by the boat to go upstream and downstream ?
(1) 128 hours

(2) 120 hours
(3) 108 hours
(4) 92 hours
Options:

878270152253. 1



878270152254. 2
878270152255. 3

878270152256. 4

Question Number : 5 Question Id : 87827038750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

On Thursday, the difference between the time taken by the boat to cover X km upstream and
(X+120) km downstream is 26 hours. Had the boat covered the same distance upstream as
downstream, then what would have been the difference in the time taken ?

(1) 58 hours

(2) 62 hours
(3) 48 hours
(4) 56 hours
Options :

878270152257. 1
878270152258. 2
878270152259. 3

878270152260. 4

Question Id : 87827038745 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension
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Question Number : 1 Question Id : 87827038746 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270152241. 1
878270152242. 2
878270152243. 3



878270152244. 4

Question Number : 2 Question Id : 87827038747 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(1) 409

() 309

(3) 809

(4) 6092
Options :
878270152245. 1
878270152246. 2
878270152247. 3

878270152248. 4

Question Number : 3 Question Id : 87827038748 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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878270152251. 3

878270152252. 4

Question Number : 4 Question Id : 87827038749 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270152253. 1
878270152254. 2
878270152255. 3

878270152256. 4

Question Number : 5 Question Id : 87827038750 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) 589
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(3) 489

(4) 569
Options:
878270152257. 1
878270152258. 2
878270152259. 3
878270152260. 4
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Question Number : 6 Question Id : 87827038751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following tools can be used for virtual labs and simulations ?

(I) Plotagon

(2) Wakelet
(3) PhET Interactive Simulations
(4) Flipgnd

Options :

878270152261. 1
878270152262. 2
878270152263. 3

878270152264. 4



Question Number : 6 Question Id : 87827038751 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270152261. 1
878270152262. 2
878270152263. 3
878270152264. 4

Question Number : 7 Question Id : 87827038752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is the driving force for students’ commitment, engagement and perstistence
in self-directed learning ?

) Fixation

) Motivation

) Metacognition
) Assessment
Options:
878270152265. 1
878270152266. 2
878270152267. 3

878270152268. 4



Question Number : 7 Question Id : 87827038752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
878270152265. 1
878270152266. 2
878270152267. 3

878270152268. 4

Question Number : 8 Question Id : 87827038753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I :  Passive style is a way of dealing with conflict in which people are nonassertive
and submissive and don't let others know what they want.

Statement I :  Manipulative style is a way of dealing with conflict in which people try to get
what they want by making others feel guilty for them.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct

Options:



878270152269. 1
878270152270. 2
878270152271. 3

878270152272. 4

Question Number : 8 Question Id : 87827038753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270152269. 1
878270152270. 2
878270152271.3

878270152272. 4

Question Number : 9 Question Id : 87827038754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



When students, who have learned to type on a typewriter, transfer this skill to typing ona computer
keyboard, it is an example of learning ?
(1) Far transer

2

High-road transfer

(
(3
(

)
3)  Near transfer
)

}

Low-road transfer
Options:
878270152273. 1
878270152274. 2
878270152275. 3
878270152276. 4

Question Number : 9 Question Id : 87827038754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270152273. 1
878270152274. 2
878270152275. 3

878270152276. 4

Question Number : 10 Question Id : 87827038755 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which factor plays a crucial role in creating an effective learning environment ?
(I) Teacher's qualification

(2)  Availability of instructional facilities
(3) Focus on foreign language use
(4) admission to students from elite class

Options :

878270152277. 1
878270152278. 2
878270152279. 3

878270152280. 4

Question Number : 10 Question Id : 87827038755 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
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Options:
878270152277. 1
878270152278. 2
878270152279. 3

878270152280. 4

Question Number : 11 Question Id : 87827038756 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Iclent'Lfy the software that would be useful for statistical anaJysis of data generated In a research
study :

(A) SPSS

(B) Ithenticate

(C) MINITAB

(D) R

Choose the correct answer from the options given below :
() (A), (B) and (C) Only

) (B), (C) and (D Only

) (A), (C) and (D) Only

) (A)

4 (A), (B)and (D) Only

2
(3
(
Options:
878270152281. 1
878270152282. 2
878270152283. 3

878270152284. 4

Question Number : 11 Question Id : 87827038756 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :



878270152281. 1
878270152282. 2
878270152283. 3

878270152284. 4

Question Number : 12 Question Id : 87827038757 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement (I) : The quantitative content analysis in social science research is a very transparent
research method.

Statement (II) : The quantitative content analysis is often referred to as obtrusive method.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement IT are true

(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement II is false
(4) Statement I s false but Statement II is true
Options :

878270152285. 1

878270152286. 2

878270152287. 3

878270152288. 4

Question Number : 12 Question Id : 87827038757 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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878270152285. 1

878270152286. 2

878270152287. 3

878270152288. 4

Question Number : 13 Question Id : 87827038758 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In the context of a published research article, DOI stands for :

(1

) Data Object Integration
(2) Digital Object Identifier
(3) Data Object Interface
(4) Digital Object Interface
Options :

878270152289. 1
878270152290. 2
878270152291. 3

878270152292. 4

Question Number : 13 Question Id : 87827038758 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270152289. 1
878270152290. 2
878270152291. 3

878270152292. 4

Question Number : 14 Question Id : 87827038759 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following measures would be useful for commenting upon the degree of asymmetry
in a statistical distribution ?

(1
(2
(3
(

Central tendency

Kurtosis

4)  Skewness

; Dispersion
)

)

Options:
878270152293. 1
878270152294. 2
878270152295. 3

878270152296. 4

Question Number : 14 Question Id : 87827038759 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270152293. 1
878270152294. 2
878270152295. 3

878270152296. 4

Question Number : 15 Question Id : 87827038760 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Which of the following correctly represents the meaning of the abbreviation “vide” used inacademic
writing ?

(I) against

(2) width

(3) refer to

o

namely
Options:
878270152297. 1
878270152298. 2
878270152299. 3

878270152300. 4



Question Number : 15 Question Id : 87827038760 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

feeeferfin o & 171 e STl o H W < (vide) ' fifia o e o1 R et e &

Options :

878270152297. 1
878270152298. 2
878270152299. 3

878270152300. 4

Question Number : 16 Question Id : 87827038761 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

A kind of fixation with medium itself is ::nnceptualised as :

(1) Hypermediacy

(2) Immediacy

(3) Media tendency

(4) Multi-mediacy
Options :

878270152301. 1
878270152302. 2
878270152303. 3

878270152304. 4

Question Number : 16 Question Id : 87827038761 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270152301. 1
878270152302. 2
878270152303. 3

878270152304. 4

Question Number : 17 Question Id : 87827038762 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The cyberspace is normally compared to a type of electronic :
(1) Screen
(2) Salon
(3) Complex
)

(4) Agora

Options:

878270152305. 1
878270152306. 2
878270152307. 3

878270152308. 4

Question Number : 17 Question Id : 87827038762 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270152305. 1
878270152306. 2
878270152307. 3
878270152308. 4

Question Number : 18 Question Id : 87827038763 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true in respect of communication ?
(A) Communicated meanings are always ambiguous.

(B) Words are symbols for concepts.

(C) Labels may be ambiguous.

(D) Symbols are usually understood within a group.

(E) Sharing of meaning is not possible in communication.

Choose the correct answer from the options given below :

(1) (A), (B) and (C) Only

(2) (B), (C) and (D) Only
(3)  (C), (D) and (E) Only
(4) (A), (B) and (E) Only

Options :
878270152309. 1
878270152310. 2

878270152311. 3



878270152312. 4

Question Number : 18 Question Id : 87827038763 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

8782701523009. 1

878270152310. 2

878270152311. 3

878270152312. 4

Question Number : 19 Question Id : 87827038764 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement (I) : Communication cannot reflect the cultural conduct of people
Statement (II) : Communication is a practice integral to formation of social life

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options:

878270152313. 1

878270152314. 2

878270152315. 3

878270152316. 4

Question Number : 19 Question Id : 87827038764 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270152313. 1

878270152314. 2

878270152315. 3



878270152316. 4

Question Number : 20 Question Id : 87827038765 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I Communication is a social process in which people use symbols to interpret
meanings in their own environment

Statement 11 : Peoplte and their inferactions are not part of the communication process, because
communication cannot be social

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement Il are incorrect
(3)  Statement I is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement 11 is correct
Options :

878270152317. 1

878270152318. 2

878270152319. 3

878270152320. 4

Question Number : 20 Question Id : 87827038765 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



:ﬂﬁﬂwﬁqw%:
O] T T HI Tiha ¢ o am or W o e H o fuR e o o

1 37 F B
O 11 ; G T 37 vl T e s e =k feen e 2t & e i At 76 @
T |

TG o S §, A9 o T fommed | o U S T I
(1) o1 S o 1 3 9

() 1SR FIR 11 e ¢

() F IR ¢, olfod RO 1T ¢

(4) UL ¢, Tl FUT Il €

Options:

878270152317. 1
878270152318. 2
878270152319. 3

878270152320. 4

Question Number : 21 Question Id : 87827038766 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A car starts running with the initial speed of 50 km/hour, with its speed increasing every hour by

5 km per hour. How many hours will it take to cover a distance of 630 km ?

(1) 7 hours

(2) 9 hours

(3) 6 hours

(4) 8 hours
Options :
878270152321. 1
878270152322. 2
878270152323. 3

878270152324. 4



Question Number : 21 Question Id : 87827038766 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
T &R 50 foesie o sfors i @ SR e e 6 g R 5 e e U e 71 630 el
H g A 2 e s )
(1) 7%
) 9%
3) 6%
4) §¥
Options :
878270152321. 1
878270152322. 2
878270152323. 3

878270152324. 4

Question Number : 22 Question Id : 87827038767 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In a factory, the average salary of the employees is ¥ 7000. If the average salary of 12 officers is
< 40000 and that of the remaining employees is ¥ 6000, then the number of employees is :

(1) 402

(2) 404

(3) 406
(

4) 408

]

)
)
)

Options:

878270152325. 1
878270152326. 2
878270152327. 3

878270152328. 4



Question Number : 22 Question Id : 87827038767 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
ot Wt o A 0 ol 9 27000 §1 A 12 fonfel @ e oM % 40000 S S
T 1 S0 A 2 6000 2, T FHA o G e
(1) 402
(2) 404
(3) 406
(4) 408
Options :
878270152325. 1
878270152326. 2
878270152327.3

878270152328. 4

Question Number : 23 Question Id : 87827038768 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The sum of three numbers is 124. If the ratio between the first and the second is 2: 3 and between
the second and the third is 7 : 9, then the third number is :

(1) 48

(2) 54
(3) 64
(4)

]

4) 66

Options:

878270152329. 1
878270152330. 2
878270152331. 3
878270152332. 4



Question Number : 23 Question Id : 87827038768 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

A1 Teel 301 124 %1 4 Vel 4R gt T o o SR 2:3 € A4 T SR e it e
7:9% 9 dd Hem @
1) 48
(2) 54
(3) 64
(4) 66
Options :
878270152329. 1
878270152330. 2
878270152331. 3

878270152332. 4

Question Number : 24 Question Id : 87827038769 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What will be the value of P in the fﬂllmviﬂg number series ?
2. 38 5. B s

(1) 3120
7. S 74
(3) 2045
(4) 630
Options:

878270152333. 1
878270152334. 2
878270152335. 3
878270152336. 4



Question Number : 24 Question Id : 87827038769 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafea s s@en § P =1 7 foFawn gm 2

(), 2, 28 Fad, By o

(1) 3120
(2) 1029
(3) 2045
(4) 630
Options :

878270152333. 1
878270152334. 2
878270152335. 3
878270152336. 4

Question Number : 25 Question Id : 87827038770 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The cost price of an article is 75% of its marked price for sale. How much percent does the trades-
man gam after a]lowing a discount of 15% ?
(1) 20%

1
13=%
o 13
(3) 10%
2
15=%
HRES
Options:

878270152337. 1
878270152338. 2

878270152339. 3



878270152340. 4

Question Number : 25 Question Id : 87827038770 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
forel o 91 TR e 3 forh o fer T 1 75% 1 15% F 92 ¢ F v AR A R
e 2 T 2
(1) 20%
1

) 13=%
o 1
(3) 10%

2
15=%

@ b3
Options :

878270152337. 1
878270152338. 2
878270152339. 3

878270152340. 4

Question Number : 26 Question Id : 87827038771 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements are so related that they cannot both be true, nor can they both

be false ?

(A) All mammals are vertebrates.

(B) Some mammals are vertebrates,
(C) Some mammals are not vertebrates.
(D) No mammals are vertebrates.

Choose the correct answer from the options given below :
() (A)and (B) Only

(2) (B) and (D) Only

(3) (C) and (D) Only
(4) (A) and (D) Only
Options:
878270152341. 1
878270152342. 2
878270152343. 3

878270152344. 4

Question Number : 26 Question Id : 87827038771 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

feeeferfin o § 9 9 97 39 Te W TG & 6 o O 9 T @ o € AR T S B WA €
(A) T TR Fe €

(C) T8 T FH T ¢

(D) 13 Sf Tt ] T |

7 feu T foered % 9 W SR T i
A (A) 4 (B)

Options :



878270152341. 1
878270152342. 2
878270152343. 3

878270152344. 4

Question Number : 27 Question Id : 87827038772 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements is logically equivalent to the statement - “All rectangles are
polygon” ?

(I) Some rectangles are polygon.

(2
(
(

No reclzmgles are nonapalvgnn.

s |

}

; No non-rectangles are non-polygon.
) All non-polygons are rectangles.
Options :

878270152345. 1

878270152346. 2

878270152347. 3

878270152348. 4

Question Number : 27 Question Id : 87827038772 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

frfefan # 8 #F 7 F97 Tk T F 30 F97 % q0ged ¢ - 9 A T ¢ ?

(1) T 3790 g4 &

() ot S TR-a e T B
(3) I ot o TR-agye I ¢
(4) Tl -G ST ¢ |

Options :



878270152345. 1
878270152346. 2
878270152347. 3

878270152348. 4

Question Number : 28 Question Id : 87827038773 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following terms in order of increasing intension :
(A) Cheese

(B) Dairy product

(C) Soft Cheese

(D) Strong soft cheese

Choose the correct answer from the options given below :

(1) (B), (A), (©), (D)

(2) (B), (D), Q) (A)
(@) (D) (), B), (A)
4) (D) (O (A) (B)

Options :

878270152349. 1
878270152350. 2
878270152351. 3

878270152352. 4

Question Number : 28 Question Id : 87827038773 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



ffefiaa gl =l Toned % TRl A H Hared Hifg
(A) TR

(B) g™ SIS

(©) ¥g TR

(D) it §g TR

= feu v fasredi § 9 9 39T & =9IH HifeU

(1) (B), (A), (©), (D)

(2) (B), (D), (O), (&)
(3) (D) (©), (B), (A)
4) (D) (©), (A) (B)
Options:

878270152349. 1
878270152350. 2
878270152351, 3

878270152352. 4

Question Number : 29 Question Id : 87827038774 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"Political stabﬂit}r s indispensable to economic progress because economic progress can 011l_v be
achieved by means of political stability” Which informal fallacy is committed in the above
statement ?

(I) Slippery Slope

(2) Red Herring

(3) Hasty Generalisation
(4) Begging the question
Options :
878270152353. 1
878270152354. 2
878270152355. 3

878270152356. 4



Question Number : 29 Question Id : 87827038774 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

" e e enfeler e ¥ e arfterd & it snfo wfe St Trovifo o 3 et 2 €1
% 9 Gl ¢ 1" S0 F B T SR T ¢

(1) TR Bem

(2) Ve Heokd (T2 &)
(3) ot qER
(4) ST g
Options :
878270152353. 1
878270152354. 2
878270152355. 3

878270152356. 4

Question Number : 30 Question Id : 87827038775 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  The proposition “The hill has fire because it is knowable” commits the fallacy of
the irregular middle,

Statement I :  The proposition “Sound is eternal, because it is audible” commits the fallacy of
the irregular middle.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement Il is incorrect

(4) Statement I is incorrect but Statement II is correct

Options:



878270152357. 1
878270152358. 2
878270152359. 3

878270152360. 4

Question Number : 30 Question Id : 87827038775 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ﬁﬁwmﬂﬁﬁz

FUA1: 79 yfoara e W e € FifE T ga e e ver 1 R B
HOT ;35 Yfosfta ' 3 wver , TF 7 45 ' H afafid wed o e g
IR FUA F S 8, e fou 0 fored § ¥ e SURgE I H T H ;
(1) S 3R w1 I T &

() WA 1 3R H 1 T e €

(3) U LTI &, ek oM 117 @

(4) Y 1TEM &, Tl e 11 7 ¢

Options :

878270152357. 1

878270152358. 2

878270152359. 3

878270152360. 4

Question Number : 31 Question Id : 87827038776 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :
Statement I :  Google is a web search engine, while google chrome is a web browser.
Statement I1:  Microsoft Edge is a web search engine, while Microsoft Bing is a web browser.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement Il is incorrect
(4) Statement I is incorrect but Statement II is correct
Options:

878270152361. 1

878270152362. 2

878270152363. 3

878270152364. 4

Question Number : 31 Question Id : 87827038776 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

T FARUME

FATL: 70 TF o G 35 ¢ STl T M o6 A1 ¢ |

HUT I TEFHIGR U UF 96 9 39 ¢ ek HIsshaie fam U od e § |
IR oM F el ¥, e U U foedl § 9 Wad IUga I T I ;
(1) o1 3 R 1S T2 2
(2) YT 13 AR 11 S T §
(3) YT TR &, Wifehd e 11 7Terd ¢
(4) U T &, TR HOR LT &
Options :

878270152361. 1

878270152362. 2

878270152363. 3



878270152364. 4

Question Number : 32 Question Id : 87827038777 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Consider the fnllnwing memory hieral'ch}; diagl'am:

Cache
Memory

f s 3
/ Solid State Storage \

11

/ Optical Disk Storage \
/ . \

Which of the following memories A-D represent [, II, [Il and IV (in that order) ?

Increase in Cost per bit
Increase in Access Time

(A) Magnetic Tape

(B) Magnetic Hard Disk

(C) Random Access Memory

(D) Processor Registers

Choose the correct answer from the options given below :
(1) D) (C), (A) (B)

() (4), () (©) D)
() (B) () (D), (A)
@) @) (©), ({B) (4)
Options :
878270152365. 1

878270152366. 2



878270152367. 3
878270152368. 4

Question Number : 32 Question Id : 87827038777 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

freferfiea #ar | sme R/ fo=r #ifs ;

yfa fae =rma ° afg
S
&
7
il
st wa § gfg

T

Ly

/ v \
frfafiad o | 9 9 560 A-D (35 FH ) 11, 11 SRV i 97 & 7
(A) Fraw 2

T we feeh
(C) =W UaEd HAN
(D) 9rHER Tseed
A9 fou o foepedi H 9 W@ SR F1 T9H FIf9C

(1) (D) (©), (A) (B)
) (A), (B), (C), (D)
) (B), (O (D), (4)
) (D) (©) (B), (A)

(2
(3
(4

Options :



878270152365. 1
878270152366. 2
878270152367. 3

878270152368. 4

Question Number : 33 Question Id : 87827038778 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - I with List - I1.

List -1 List - 1I
(ICT Term) (Definition)
(A) Firewall (I)  Used torememberuser’s preferences each time they visit websites

(B) Digital certificate  (I) Hardware or software that sits between a user's computer and
an external network, which filters data coming to and from the

computer

(C) Cookies (IIT) Software, firmware or hardware that creates and runs a virtual
machine

(D) Hypervisor (IV) Pairs of files stored on user’s computer; each pair contains a

pub]ic l(E}’ and private key
Choose the correct answer from the options given below :

(1) (AM, B)-(), (CHIV), (DHI)

(@ (AH), (BHIV), (C)(I), (DA
(3) (AL, B)-V), (©)-(), (D)
(@) (AHII), BHLV), (©-{1), DK)
Options :

878270152369. 1
878270152370. 2
878270152371.3

878270152372. 4

Question Number : 33 Question Id : 87827038778 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

-1 o 91 G-I 1 e it

T I
(am & w) (e

(A) wETa () R a9 W T F e P A% T % fou |

() fefwed WM () IR A WIS S YA % F S AR Tea & we feem
I € S 92§ -9 9t 2R A et 0 ¢

€ F#H (L1 oI, ol 21 BIE i STt 79T 157 0 & A Seffera
G201

(D) R (IV) IR % FE W AT Tel & g, T g Wt
%o o Pt of 2 &1

1 feu U ol W § W& S 1 7 T

(L) (AH, B)-), (CHLV), (DHII)

@ (A-D, BHIV), C)(L), (DHII)

() (A)I), B)-[V), (C-(1) (D))

(4)  (AM), BHIV), (©-{1), D}

Options :

878270152369. 1
878270152370. 2
878270152371.3

878270152372. 4

Question Number : 34 Question Id : 87827038779 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Consider the following Ms-Excel work sheet :

A B C
1 | Month |Number of classes taught | Payments (in ¥ ) made @ 1500 per class
2 | January 20 30000
3 | February 14 21000
4 | March 17 25500
5 | April 13 19500
6 May 12 18000
7 | June 15 22500

The value returned by the function

=SUMIFS (C2 : C7, B2 : B7, “>13", C2.: C7, “>22500") is :
) 78000
) 76500
) 99000
)

55500

Options:

878270152373. 1
878270152374. 2
878270152375. 3

878270152376. 4

Question Number : 34 Question Id : 87827038779 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frfafaa Ms-Excel 95 ¥ie W foam #ifew :

A B C
i - ST T RN | Uedeh hell & 1500 FUY & femma
! weaT ® feram e ypram (T H)
2 | weh 20 30000
3 ETCH 14 21000
1 e 17 25500
5 T 13 19500
6 7 12 18000
7 E4 15 22500
et
=SUMIFS (C2: C7, B2 : B7, “>13", C2 : C7, “>22500") SR U1 AM ¢ :
(1) 78000
(2) 76500
(3) 99000
(4) 55500
Options:

878270152373. 1
878270152374. 2
878270152375. 3
878270152376. 4

Question Number : 35 Question Id : 87827038780 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements with refers to the different number systems :
Statement [ : (0.68?5)10 — (I].'lﬁll)2
Statement 11 (111011.1[]1)2 = (58.(325)10

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options:

878270152377. 1

878270152378. 2

878270152379. 3

878270152380. 4

Question Number : 35 Question Id : 87827038780 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
fafir dem yonferdi o e ® & Fom faw g
FEL: (0.6875), = (0.1011),
FITM:  (111011.101), = (38.625),
IR oM F el ¥, e U U foedl § 9 Wad IUga I T I ;
(1) o1 3 R 1S T2 2
(2) YT 13 AR 11 S T §
(3) FETIE &, ol HYT 1 Tewd @
(4) U T &, TR HOR LT &
Options :
878270152377. 1
878270152378. 2

878270152379. 3



878270152380. 4

Question Number : 36 Question Id : 87827038781 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :

Statement I:  Photovoltaic cells produce Alternating current (a.c.).

Statement II:  Photovoltaic cells are exposed directly to the sun, therefore as temperature rises
leakage accross the cell increases.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement | is incorrect but Statement 1l is correct

(
(3)  Statement I is correct but Statement II is incorrect
(

Options :

878270152381. 1

878270152382. 2

878270152383. 3

878270152384. 4

Question Number : 36 Question Id : 87827038781 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Fﬁﬁﬂ@ﬂﬁ'@ﬂ%‘:

T TR T Ve T (TA,) 3 g

TR :  HRETT S W v () B senfd 2 €, o 5 avm A o 2 T i E
R-R fra) o o £

T 9 & AR H, T 30 T forpedl o U S T I

(1) HOR S FR T T4 €

(2) YR 1 30 e 11 EFf e

(3) ORI ¢, oo R 117Tew ¢

(4) IR 1T ¢, T ehem 11 81 ¢

Options:

878270152381. 1

878270152382. 2

878270152383. 3

878270152384. 4

Question Number : 37 Question Id : 87827038782 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the follnwmg pairs of elements 1s most important for eutrophjcatinn process ?
(1) Calcium-magnesium

(2) Nitrogen-phosphorus

(3) Nickel-cobalt

(4) [rnnucnpper

Options :

878270152385. 1

878270152386. 2

878270152387. 3

878270152388. 4

Question Number : 37 Question Id : 87827038782 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

frferfigd H § 19 del 1 3 quied (Feiwy) Tkl o fou gaifes wemg & 7
(1)  Hfcamm-Hfefmm

Options :

878270152385. 1
878270152386. 2
878270152387.3

878270152388. 4

Question Number : 38 Question Id : 87827038783 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The standard coagulant in water reatment is ?
(1) Hypochloride
(2) Chlorine

(3) Aluminium
(4) Alum
Options:

878270152389. 1
878270152390. 2
878270152391. 3

878270152392. 4

Question Number : 38 Question Id : 87827038783 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

el ieA W W% THeF ¢

Options :

878270152389. 1
878270152390. 2
878270152391. 3

878270152392. 4

Question Number : 39 Question Id : 87827038784 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : PM, is preferred over Total Suspended Particles (TSP) for air quality monitoring
studies.

Reason (R):  Particles larger than 10 micron are better indicator of potential health effects of
particulate air pollution.

In the light of the above statements, choose the most appropriate answer from the options given

below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2)  Both (A) and (R) are correct but (R) is not the correct explanation of (A)

(3) (A) is correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options :

878270152393. 1

878270152394. 2



878270152395. 3

878270152396. 4

Question Number : 39 Question Id : 87827038784 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :
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878270152393. 1
878270152394. 2
878270152395. 3

878270152396. 4

Question Number : 40 Question Id : 87827038785 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I :  The Richter Scale measures not only the intensity of earthquake itself, but its
impact on people too.

Statement Il ;  The modified Mercalli scale measures the Earthquake in terms of energy released.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options:

878270152397. 1

878270152398. 2

878270152399. 3

878270152400. 4

Question Number : 40 Question Id : 87827038785 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270152397. 1
878270152398. 2



878270152399. 3
878270152400. 4

Question Number : 41 Question Id : 87827038786 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following Open universities was established in accordance with the National Education
policy, 1986 :

(I) Dr. BR Ambedkar Open University, Heyderabad

(2) Indira Gandhi National Open University, Delhi

(3) Karnataka State Open University, Mysore

(4)  Yashwant Rao Chavan Maharashtra open University, Nasik
Options :

878270152401. 1

878270152402. 2

878270152403. 3

878270152404. 4

Question Number : 41 Question Id : 87827038786 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(2) 3w el i e fevafeeren, feeeh

(3) e T5d W favaifareer, W

(4) TIEd Te TR HEE oK foafererd, TEeH

Options :
878270152401. 1

878270152402. 2



878270152403. 3

878270152404. 4

Question Number : 42 Question Id : 87827038787 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following universities in ancient India had six colleges each under them and had a lot
of exchange of ideas between them ?

(A) Sridhanya katak

(B) Nalanda

(C) Takshashila

(D) Vikramashila

Choose the correct answer from the options given below :

(1) (A)and (B) Only

(2) (B) and (D) Only
(3) (C) and (D) Only
(4) (A) and (D) Only
Options :

878270152405. 1
878270152406. 2
878270152407. 3

878270152408. 4

Question Number : 42 Question Id : 87827038787 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270152405. 1
878270152406. 2
878270152407. 3

878270152408. 4

Question Number : 43 Question Id : 87827038788 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Find out the correct chronological order of the establishment of following universities in India :
(A) Agra University
(B) Delhi University
(C) Nagpur University
(

(

e

D) Andhra University

E) University of Calcutta
Choose the correct answer from the options given below :
(M) @) (©) (A), E) )
@ () (®) (), D), (A)
@) (€, (D), (A), (E) (B)
() (A),(E), (), D) €
Options:
8782701524009. 1
878270152410. 2
878270152411. 3

878270152412. 4

Question Number : 43 Question Id : 87827038788 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
R o fAfaiga fayafoeredl i 3T T & HIesraTaR W :
(A) R faveEfeEmer™
(B) fecedt favafaamc
(C) AR fergafer=me
(D) 3 fevafeamTy
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(1) (B), (©) (A), (E), (D)
2 (B (B) (C) (D), (A)
(3)  (©), (D) (A), (E), (B)
@) (A) (B, B), D) ©



Options :

878270152409. 1
878270152410. 2
878270152411. 3
878270152412. 4

Question Number : 44 Question Id : 87827038789 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Match List - [ with List - I1.

List - I List - II
(Commission/Committee) (Focus area)
(A) Sadler Commission (I)  Functioning of UGC and AICTE
(B) Hartog Committee (I}  University education in India
(C) Radhakrishnan Commission ~ (Ill) Comprehensive report on education in India
(D) Yashpal Committee (IV) Functioning of Calcutta university

Choose the correct answer from the options giuen below :

(1) (AHID, B, C)-(1), (D}-IV)

(2) (A, (B)IV), (CH(H), (D)-(1)
(3)  (AMI), (B)-(I), (CH1V), (D)(IL)
(4)  (AHIV), (BHI), (CHI), (D))
Options :

878270152413. 1
878270152414. 2
878270152415. 3
878270152416. 4

Question Number : 44 Question Id : 87827038789 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 % |19 Gelt-11 =1 fiei IS
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(1) (A)-(1D), (B)-(D), (©)-(), (D)-(IV)
(2)  (A)-(II), (B)-(IV), (C)-(II), (D)-(D)
B)  (A)-(0), (B)-(I), (O-(1V), (D)AII)
(4)  (A)-(IV), (B)(IL), (C)-(1T), (D)-(I)
Options :

878270152413. 1

878270152414. 2

878270152415. 3

878270152416. 4

Question Number : 45 Question Id : 87827038790 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement I :  Financing higher education in a country like India depends upon availability of
resources and other financial implications.

Statement II:  According to NEP 2020, funding and financing of higher education will be carried
out by the second vertical of Higher Education Commission of India i.e, Higher
Education Grants Council.

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4) Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement II is incorrect
(

Options:

878270152417. 1

878270152418. 2

878270152419. 3

878270152420. 4

Question Number : 45 Question Id : 87827038790 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270152417. 1
878270152418. 2
878270152419. 3
878270152420. 4

Sub-Section Number : 3
Sub-Section Id : 8782701631
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827038791 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the following passage and answer the questions that follow :

Tiger reserves are an important part of our tourism industry. There are 42 declared tiger reserves
in India which are generally operated by state forest departments. Indian tiger, also known as
Bengal tiger is the national animal of India. Its scientific name is Panfliera tigris tigris. Tigers are
maintained in reserves for their scientific, economic, aesthetic, cultural and ecological values and
they are kept as national heritage for the education and enjoyment of the people.

But in recent years tiger tourism has become a troublesome issue due to the rapid growth of killing
of tigers due to illegal poaching. This ia a wakeup call not only for the department of tourism but
also for the various wildlife organisations and other governing bodies. Since the governments have
failed to implement adequate enforcement response and investigations, wildlife crimes have increased
by years. Today there are some activists and environmentalists who are demanding a complete
ban on public access to wildlife reserves. But such a complete ban would be a setback.

There is no question that commercial tourism must be strictly regulated, however a complete ban
would be an extremely harmful step, as it will negatively impact conservation education, monitoring
and other conservation activities.

Sub questions

Question Number : 46 Question Id : 87827038792 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Tiger tourism has become a problem in recent years because :
(1) There are too many tigers

(2) Tigers kill people

(3) Tourists disturb tigers

(4) There is illegal poaching of tigers
Options :

878270152421. 1
878270152422. 2
878270152423. 3

878270152424. 4

Question Number : 47 Question Id : 87827038793 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Solution to the problem of wild life crimes can be found by :
(1) Banning public access to wildlife reserves

(2) Banning tiger tourism

(3) Regulating commercial tourism

(4) Curtailment of wild life population

Options :

878270152425. 1

878270152426. 2

878270152427. 3

878270152428. 4

Question Number : 48 Question Id : 87827038794 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



A pmtected area for animals, plaﬂls etc. is called :

(1) A Reserve
(2) A Forest

(3) Countryside
(4) Cantonment

Options:

878270152429. 1
878270152430. 2
878270152431.3

878270152432. 4

Question Number : 49 Question Id : 87827038795 Question Type : MCQ Option Shuffling

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Tigers are kept in reserves for the fDllDw'mg reasons :

(A) Ecological value
(B) Cultural value
(C) Agricultural value
(D) Aesthetic value
(E) Medicinal value

Choose the correct answer from the options giv en below :

(1) (A), (B) and (D) Only

(2) (B), (C) and (D) Only
(3) (), (D) and (E) Only
(4) (A), (D) and (E) Only

Options :

878270152433. 1
878270152434. 2
878270152435. 3

878270152436. 4

:No

Question Number : 50 Question Id : 87827038796 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements :
Statement [ ; Banning commercial tourism will positivel}r impact conservation activities,
Statement I1:  Panthera I:'gr:'s n'gris is the national animal of India.

In the light of the above statements, choose the most appropriate answer from the options given
below :

(1) Both Statement I and Statement I are correct
2)  Both Statement I and Statement II are incorrect
3

4)  Statement I is incorrect but Statement II is correct

(
(3) Statement I is correct but Statement Il is incorrect
(

Options :

878270152437. 1

878270152438. 2

878270152439. 3

878270152440. 4

Question Id : 87827038791 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (46 to 50)

Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 87827038792 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

e1e1 o 91 H 23T yded Uk W91 &9 71 § it
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Options :

878270152421. 1
878270152422. 2
878270152423. 3

878270152424. 4

Question Number : 47 Question Id : 87827038793 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
SSia HeHl ST S G 1 FHIHH e g 9T foRa S wehd @ 7
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(2) R YA W GfTEH TR

(3) anforfres Wi =1 fafvafia

(4) T TR H T

Options:

878270152425. 1

878270152426. 2

878270152427. 3

878270152428. 4

Question Number : 48 Question Id : 87827038794 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

yypadi, Tt anfe & forg wefar & 1 @ e S €

(1) FR=E
(2) =4
(3) <EM
(4) BrEAl
Options:

878270152429. 1
878270152430. 2
878270152431. 3

878270152432. 4

Question Number : 49 Question Id : 87827038795 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
2RI 1 Frefafas sl § o § v am e
(A) WRFrfarE 9o
(B) HIEHTF HeH

(C) =Y e
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(1) %9 (A), (B) IR (D)

(2) %9 (B), (C) ¥R (D)

(3) FaA (C), (D) ¥R (E)

(4) 9 (A), (D) 3R (E)

Options :

878270152433. 1

878270152434, 2

878270152435, 3

878270152436. 4

Question Number : 50 Question Id : 87827038796 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270152437. 1
878270152438. 2
878270152439. 3

878270152440. 4
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Section Marks : 200
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Clear Response: Yes
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Question Shuffling Allowed : Yes
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Question Number : 51 Question Id : 87827038797 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Knowing a language means being able to produce and understand new sentences never spoken
before. This is called :

(I)  The generative aspect of a language

(2
&
(4

The produclive aspect of a language

s

; The creative aspect of a language

) The formative aspect of a language
Options :

878270152441. 1

878270152442. 2
878270152443. 3

878270152444. 4

Question Number : 51 Question Id : 87827038797 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270152441. 1
878270152442. 2
878270152443. 3

878270152444. 4



Question Number : 52 Question Id : 87827038798 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT an essential component in Panini’s grammar ?
(I) Dhitupitha (DP)

(2) Ganapitha (GP)

(3) Start symbol (SS)

(4) Sutrapatha (SP)

Options :

878270152445. 1

878270152446. 2

878270152447. 3

878270152448. 4

Question Number : 52 Question Id : 87827038798 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(1) «rgae ()

(2) IR (SAd)

(3) HRYF Fdih (THIH)

(4) TS (TH)
Options :

878270152445. 1
878270152446. 2
878270152447. 3
878270152448. 4



Question Number : 53 Question Id : 87827038799 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is a predicative adjective ?

(I) an adjective whose occurrence in a structure is predictable

(2) an adjective that acts like a verb with its own set of arguments

(3) an adjective that functions like a complement of a verb in a verb phrase
(4) an adjective that can be used to represent propositions in predicate logic
Options :

878270152449. 1

878270152450. 2

878270152451. 3

878270152452. 4

Question Number : 53 Question Id : 87827038799 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270152449. 1
878270152450. 2
878270152451. 3

878270152452. 4

Question Number : 54 Question Id : 87827038800 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following statements is NOT true about formants in acoustic phonetics ?

(1) itis useful in the classification of vowels and vowel-like sounds and of transitional features

(2) itis a concentration of acoustic energy, reflecting the way air from the lungs vibrates in the
vocal tract

(3)  three main formants provide the basis of vowel descriptions

(4)  the first formant decreases in frequency as one moves from high to low vowels

Options :

878270152453. 1

878270152454. 2

878270152455. 3

878270152456. 4

Question Number : 54 Question Id : 87827038800 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Frei 2 o s o forgm 6 g e 3 o 6 T 2

) T T a9 TRy W Ud UG fetal & et § 3w g
(2) e vafTE S 1 WhE & W A vy N Gy a1 % F & fafy g g
(3) T A o @ 1 au F SR e F

(4) W9 % AR 3= [ e TR A SR S € A vem emafa ¥ § emafd @ g A €
Options:

878270152453. 1

878270152454, 2

878270152455. 3

878270152456. 4

Question Number : 55 Question Id : 87827038801 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

According to Greenberg's characteristics for verb final (OV) and verb medial (VO) languages,
which of the following is NOT true about question formation ?

(I) Question particles generally appear sentence-initial in VO languages

(2) Question words generally appear sentence-final in VO languages

(3) Question particles generally appear sentence-final in OV languages

(4)  Question words generally appear sentence-initial in OV languages

Options :

878270152457. 1

878270152458. 2

878270152459. 3

878270152460. 4

Question Number : 55 Question Id : 87827038801 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
foran & (OV) 3 e W (VO) sronadl & T fofreediaf oF SFET, W9 ol o Waitf W fm % 9
P-H T T ¢/
(1) VO s H T FOT QT T ST H ke e ¢
(2) VO ST ¥ ¥ Y ST o e H ke & ¢ |
(3) OV sl & w9 o wree A o H v 2 €
(4) OV sl & ¥ Vg I o o W v e €
Options:
878270152457. 1
878270152458. 2
878270152459. 3

878270152460. 4



Question Number : 56 Question Id : 87827038802 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

The capacity to talk (or sign) messages that are unrelated to here and now is called :

(1) Discreteness

(2)  Arbitrariness

(3) Rapid fading
(4)

4 Displacemenl

Options :

878270152461. 1
878270152462. 2
878270152463. 3

878270152464. 4

Question Number : 56 Question Id : 87827038802 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

T8 |2l (198 §3) # =91 @ F &Har S 7 IEiTE 76 €, Feen §

(1) faf=z=m
(2) iz
(3) g HeT
(4)  Tereem
Options :

878270152461. 1
878270152462. 2
878270152463. 3

878270152464. 4

Question Number : 57 Question Id : 87827038803 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who among the following poeticians argued for inclusion of Alarmkirasistra (poetics) among the
Vedaigas ?

(1) Bharata Muni

(2) Rajasekhara
3

(

4) Mammata

) Abhinavagupta

Options :

878270152465. 1
878270152466. 2
878270152467.3

878270152468. 4

Question Number : 57 Question Id : 87827038803 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
freiferfias o 2 fr soram & o 3 ae R SR (FER ) F gimien # F fou o
o foan 27
(1) R
2) TR
() e
(4) "
Options:
878270152465. 1
878270152466. 2
878270152467. 3

878270152468. 4



Question Number : 58 Question Id : 87827038804 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the theories believes that leaming depends on simulus and response ?
(I) Cognitive theory

(2) Nativist theory

(3) Generative theory
(4) Behaviourist theory
Options :

8782701524609. 1
878270152470. 2
878270152471. 3

878270152472. 4

Question Number : 58 Question Id : 87827038804 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
fret o 9 form fagia & srER stferm 38 9 srfran W st s 22
(1) HFHEHSF THgid

(2) @y fagia

(3) YoM fagia

(4) HFEUHS fagid
Options :

8782701524609. 1
878270152470. 2
878270152471. 3

878270152472. 4

Question Number : 59 Question Id : 87827038805 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A pidgiﬂ may also develop where :

(1) People of different cultures participate in events

(2) A number of people of different countries meet

(3) A number of different indigenous languages are spoken

(4) A ruler instructs the people to use the language selected by the ruler

Options :

878270152473. 1
878270152474. 2
878270152475. 3

878270152476. 4

Question Number : 59 Question Id : 87827038805 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

fafye s (fafsm) frer o & el W fomfaa & gt &2

(1) el fafum Hepfadi & i gemef § um ok €

2) I fafy= g9 % @ firerd € |

3) el fafu=1 S oo sivedt ot € |

) STl YTEeE Sl ] Sk R A T I FA FTA HT SR &l ¢

i

(
(
(4
Options:

878270152473. 1
878270152474.2
878270152475. 3

878270152476. 4

Question Number : 60 Question Id : 87827038806 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is not a method in training a language model for natural language tasks ?
(I)  Unsupervised
2

(2) Supervised
(3)  Self-supervised
(4

4 Super supervisod

Options :
878270152477. 1
878270152478. 2

878270152479. 3
878270152480. 4

Question Number : 60 Question Id : 87827038806 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

frefafes § 9 FH-91 W s & & fer s freyt ufne & v wgft 76 &7
(1)  Hfife

) friifera

) w-Trifa
) afy-fdifera

2

A

(
(
(4
Options :

878270152477. 1
878270152478. 2
878270152479. 3

878270152480. 4

Question Number : 61 Question Id : 87827038807 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

Which of the following is an “aid’ for language teaching :
(1) Lectures

(2) Syllabus

(3) Gradation
(4) Excursion
Options :
878270152481. 1
878270152482. 2
878270152483. 3

878270152484. 4

Question Number : 61 Question Id : 87827038807 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

o1 foreror 2 fA § | S weEsE (TE) | 7

(1) <ArE=H
(2) TUISIshH
(3) @E4fd (Gradation)
(4) HHOI
Options :

878270152481. 1
878270152482. 2
878270152483. 3

878270152484. 4

Question Number : 62 Question Id : 87827038808 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The areas, which speakers regard as areas of prestige, are known as :
(I) Relic areas

(2) Focal areas
(3) Dialect areas
(4) Transition areas

Options:

878270152485. 1
878270152486. 2
878270152487. 3

878270152488. 4

Question Number : 62 Question Id : 87827038808 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

SR SR Wil o & T 94 a1l ksl 1 7 5 g w9 ° S S €

(1) &R &
(2) FE e
(3) et &
(4) HFHO &
Options :

878270152485. 1
878270152486. 2
878270152487. 3
878270152488. 4

Question Number : 63 Question Id : 87827038809 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The Ambiguity which does not arise from the grammatical analysis of a sentence, but is due solely
to the alternative meanings of an individual lexical item, is referred to as :
(1)
2)  structural ambiguity
3)

)

(
(3
(

grammatical ambiguity

3)  lexical ambiguity

4)  discourse ambiguity
Options:
878270152489. 1
878270152490. 2
878270152491. 3

878270152492. 4

Question Number : 63 Question Id : 87827038809 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
wifcrened S forel e & R favern 3 St e € €, Y S fore Y o e o
FROEG G, e e

Options :

878270152489. 1
878270152490. 2
878270152491. 3
878270152492. 4

Question Number : 64 Question Id : 87827038810 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In phonological analysis, which class of sounds can be characterized using the following set of
distinctive features ?

[+ Consonantal]
[+ Sonorant]

[+/ = Syllabic|
[~ Nasal]

(1)  Obstruents
(2) Nasals
(3) Liquids
(4) Clides
Options:
878270152493. 1
878270152494. 2
878270152495. 3

878270152496. 4

Question Number : 64 Question Id : 87827038810 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

wfafier fergerr o fwafeifn o 9 form o & 1 foo famferfian e e & 9= #
T 3 T N R ¢ /

EReEGIRED

[+ ]

[+/- e

|- A

(1) Obstruents

2) Nasals

3)  Liquids

4)  Glides
Options :
878270152493. 1

878270152494. 2



878270152495. 3

878270152496. 4

Question Number : 65 Question Id : 87827038811 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following Machine Translation methods does not require training with parallel
corpora ?

(1) Statistical Machine Translation (SMT)

(2) Example Based Machine Translation (EBMT)

(3) Rule Based Machine Translation (RBMT)
(.

4)  Neural Machine Translation (NMT)

Options :

878270152497. 1
878270152498. 2
878270152499. 3

878270152500. 4

Question Number : 65 Question Id : 87827038811 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0
et 9 form aifrer omame fofy o ST RO & 50 9fem i e TE a ¢ 7
) wiferend A 3 (SMT)
2) SR S AR SFaS (EBMT)
) Tam s A SE (RBMT)
) A SR (NMT)

Options :
878270152497. 1

878270152498. 2



878270152499. 3

878270152500. 4

Question Number : 66 Question Id : 87827038812 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following typological characteristics of Tibeto-Burman languages of Northeastern

India is NOT correct ?

(1)  The inventories of syllable initial consonants are quite different and substantially larger than
those of syllable finals

a——
=2

Bilabial apical and velar stops can usually occur at both the begimu‘ng and end of a sy]lable

——
2
—

The contrast in voicing is present both with initial and final stops

—
S

Languages with the nasal [m], [n] and [n] usually permit them both word-initially and word-
finally (if it does not have a no-coda restriction)

Options :

878270152501. 1
878270152502. 2
878270152503. 3

878270152504. 4

Question Number : 66 Question Id : 87827038812 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

R G R 1 fert-andt el o e et fafireenadi o € 9 @ W@ TG 2

(1) S ST 0 HeR 9 A G § a1 el 3 st a8 €

(2) To-oireem, Foramiia 9 vl w0 T ¥ 8 SeR o SR 9 6 T R T E 9 ¢

(3) o e e o oo o <R A v €

(4) T [m], [n] 3 [o] AT ST % AT Y2- AR WG 0 €A g e i € (e g
FE T3 (no-oda) ey T 2

Options :



878270152501. 1
878270152502. 2
878270152503. 3

878270152504. 4

Question Number : 67 Question Id : 87827038813 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

A person is unable to repeat what he/she has just heard . That person may have
(1)
2)  Anomic aphasia
3)
)

(
(3
(

Conduction aphasia

3)  Global aphasia

4)  Wernicke's aphasia
Options :
878270152505. 1
878270152506. 2
878270152507. 3

878270152508. 4

Question Number : 67 Question Id : 87827038813 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
T At A 3T T TS o1 SR H SEmd § 39 Al <l
(1) =Tet SrarErd

Options :

878270152505. 1



878270152506. 2
878270152507. 3

878270152508. 4

Question Number : 68 Question Id : 87827038814 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The lexical database that denotes the ontological relations of meanings of words is known as :
(1) Dictionary

(2) Wordnet

(3)  Thesaurus

(4)  Encyclopaedia
Options :

8782701525009. 1
878270152510. 2
878270152511. 3

878270152512. 4

Question Number : 68 Question Id : 87827038814 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

ifec ?ﬂm (lexical database) 31 1&g % T {9 e 5 g, R ¢ |

Options:
878270152509. 1

878270152510. 2



878270152511. 3

878270152512. 4

Question Number : 69 Question Id : 87827038815 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

If processing proceeds step by step from morphemes, words, phrases and semantic intepretation,
the processing system is called :

(I) Bottom up

(2
§
(4

) Top down
) Shallow
) Parallel

a2

Options :

878270152513. 1
878270152514. 2
878270152515. 3

878270152516. 4

Question Number : 69 Question Id : 87827038815 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

W, 1o S o el e | i w9 5 T T8 T YO B W e €/
e (TR 349)

Options :
878270152513, 1

878270152514. 2



878270152515. 3
878270152516. 4

Question Number : 70 Question Id : 87827038816 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT true about analytical languages ?
(1) Words in these languages are generally invariable

(2) Syntactic relationships are usually shown by word order
(3) Words typically contain only one morpheme

(4) Words typically contain a linear sequence of morphs
Options :

878270152517.1

878270152518. 2

878270152519. 3

878270152520. 4

Question Number : 70 Question Id : 87827038816 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

fargeroTers WSl F Sy H e H | 9 g A © 7

(1) 37 9Twsti # vieg /e B9 Y AIREd A e E |
(2) I Hagdl e €9 F veg o0 § yefvid ot §
(3) VE H YHIE: had U S99 BT B

(4) I H WM T 1 T8 ST o 2

Options :

878270152517. 1
878270152518. 2
878270152519. 3



878270152520. 4

Question Number : 71 Question Id : 87827038817 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A descriplivel}’ adequate grammar assigns a structural desu‘iplinn to :

(1) Every grammatical sentence
(2) Every un-grammatical sentence
(3) All sentences

(4) The meaning of a sentence
Options :

878270152521. 1
878270152522. 2
878270152523. 3

878270152524. 4

Question Number : 71 Question Id : 87827038817 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

AT €Y § Fam SRR 7 | F formen g 9o ffven g2
(1) e R e

(2) WoIF AAEE qH F
(3) Hft A

(4) Torel o F 1 I
Options :

878270152521. 1
878270152522. 2
878270152523. 3
878270152524. 4



Question Number : 72 Question Id : 87827038818 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The concept of “ethnolinguistic vitality” is introduced by :
(1) R. Allard, R. Landry

(2) J. Cenoz, ]. F. Valencia

(3) R.Y.Bourhis, H. Giles, V. Barker

(4) H. Giles, R. Y. Bourhis, D. M. Taylor

Options :

878270152525. 1

878270152526. 2

878270152527. 3

878270152528. 4

Question Number : 72 Question Id : 87827038818 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
“yemifa s St Seaar’ ! i o fEREeE gRT e & e €

Options:

878270152525. 1
878270152526. 2
878270152527. 3
878270152528. 4



Question Number : 73 Question Id : 87827038819 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

The small linguistic changes that occur between Source Text (ST) and Target Text (TT) are known
as Translation shifts. The first scholar to use the term is :

(1) J. C Catford
(2) S. Bassnett
(3) M. Gregory
(4) E A Nida
Options :

878270152529. 1
878270152530. 2
878270152531. 3

878270152532. 4

Question Number : 73 Question Id : 87827038819 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

B S (T.3) 4R e W8 (30 & e S qu o o e e vt wee § 17
TR Y 3 A e T g i &7

Options :

878270152529. 1
878270152530. 2
878270152531. 3

878270152532. 4



Question Number : 74 Question Id : 87827038820 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following is NOT true about the index of synthesis in morphological typology ?
(1) it refers to how many meanings tend to be associated with each morpheme
(2) it refers to how many morphemes tend to occur per word in a language
(3) it defines a continuum from isolating languages at one extreme to highly polysynthetic
languages at the other
(4) it defines a continuum where in some languages every word consists of only one morpheme
while in other languages a word may contain many morphemes
Options :
878270152533. 1
878270152534. 2
878270152535. 3

878270152536. 4

Question Number : 74 Question Id : 87827038820 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

R T o B S S e P

(1) 7 38 S G 0 & o om0 Fe o g 2 €

() T3 4R Tk o & O Foreh oo o e e e i @ a1

(3) % T B T S ST § R 9K T St o Yo T 7 o Sacd o g
1 ¢

() T T e F1 v e § o g8 e § e v § e v i g € sl o
Wy H U Ve & o Bf0H & Wk £

Options :

878270152533. 1

878270152534. 2

878270152535. 3



878270152536. 4

Question Number : 75 Question Id : 87827038821 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A process by which morphs, combinations of morphs or linguistic patterns are modified or new
ones created on the patter of those present in a language is called :
(1) Reconstruction

(2) Lexical change
(3) Analogy

(4) Borrowing
Options :

878270152537. 1
878270152538. 2
878270152539. 3

878270152540. 4

Question Number : 75 Question Id : 87827038821 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
T SN 1 e ST o ], T o IS A TS SVREea & S Ao 1 e
%1 T 31 T § o A e
() T

Options :
878270152537. 1

878270152538. 2



878270152539. 3

878270152540. 4

Question Number : 76 Question Id : 87827038822 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The founding father of ethnomethodology is :
(1) H. Garfinkel

(2) R. Tumer

(3) E. Livington

(4) K. Leiter

Options :

878270152541, 1

878270152542, 2

878270152543. 3

878270152544. 4

Question Number : 76 Question Id : 87827038822 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
FSIfd GOl Torsi o ST @
(1) TH TRiE=<FA

(2) S TR

(3) 3. fafa=red

(4) . foex

Options :

878270152541. 1

878270152542, 2

878270152543. 3



878270152544. 4

Question Number : 77 Question Id : 87827038823 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A word or phrase that replaces a ‘taboo” word or is used to avoid reference to certain acts or
subjects. (e.g.. Powder room’ for “toilet’) is called :

(I) Euphemism

(2)  Eponym

(3) Entailment

(4)  Folk-etymology

Options :

878270152545. 1

878270152546. 2

878270152547. 3

878270152548. 4

Question Number : 77 Question Id : 87827038823 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

el Tl YIeg, e e a1 ST foell o W o T R o T € Hefe SR S foR
e ferma o eof W o= o ford fopn v © (970 WP (o) & T 'R ' 1 3E),
7 T ¢

(1) Frefm (qim)

) A (39fW)

) S (5O

) el e (e Rt

Options :

(
(
(

878270152545. 1

878270152546. 2



878270152547. 3

878270152548. 4

Question Number : 78 Question Id : 87827038824 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

"The pl'inciple of error correction’ and ‘The pl'inciple of the debt incurred’ in the context of ethical
tenets of accountability and involvement is proposed by :

(1)  William Labov

(2) Peter Austin

(3) Michael Krause
(4)  Joshua Fishman
Options :

878270152549. 1
878270152550. 2
878270152551. 3
878270152552. 4

Question Number : 78 Question Id : 87827038824 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

S R Ao o e fgia & geo ¥ ‘7 §yfs Fraw' s s ' T g
et fon T & 2

(1) faferm e
(2) I i
(3) WEF FH
(4) g e
Options :

878270152549. 1



878270152550. 2
878270152551. 3

878270152552. 4

Question Number : 79 Question Id : 87827038825 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In lexical diffusion, diffusion from word to word in a single speaker is called :

(1) Word diffusion

(2)  Speaker diffusion
(3) Language diffusion
(4) Idiolect diffusion
Options :

878270152553. 1
878270152554. 2
878270152555. 3

878270152556. 4

Question Number : 79 Question Id : 87827038825 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

yifesss forgeon #, fort vk e Wit § Vg foromn 1 1 © 9 o0 1 < €2
(1) 93 forao

) e e
3) v ferem
)

2

4) TRt forgem

(
(
(
Options:

878270152553. 1

878270152554. 2



878270152555. 3
878270152556. 4

Question Number : 80 Question Id : 87827038826 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In terms of English Phonotactics, what is the difference between the [p] sound in the words ‘pool
and ‘spool’?

(1) [p]in"pool’is unaspirated while it is aspirated in ‘spool’
(2) [p]inpool is aspirated while it is unaspirated in ‘spool
(3) [p]inpool is voiced while it is voiceless in ‘spool

(

4)  [p]in"pool’is part of a monosyllabic word while it is part of the second syllable of ‘spool

Options :

878270152557. 1
878270152558. 2
878270152559. 3

878270152560. 4

Question Number : 80 Question Id : 87827038826 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

STl - Ty fosm & geo | s [pool] @ [spool] 7 [p] & o o9 4 FHR 7
(1) [pool] T [p] STegmol ¢ ST [spml]ﬁ [p] HeTdTT gl

(2) [pool| ® [p] WETA & Sl [spool] H [p] ST |

(3) [pool] 7 [pl T § Sl [spool] 7 [p] I & |

(4)  [pool] ¥ [p] T THeTT Y2 F1 T WM § Felfd T [spool] F TH AR F 9 T
Options :

878270152557. 1

878270152558. 2



878270152559. 3
878270152560. 4

Question Number : 81 Question Id : 87827038827 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

‘Contradictory term’ in semantics displays a type of :
(1) Closeness or proximity of meaning

(2)  Multiple representations of meaning

(3)

(4) Relatedness of meaning

Oppositeness of meaning

o

Options :

878270152561. 1
878270152562. 2
878270152563. 3

878270152564. 4

Question Number : 81 Question Id : 87827038827 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

yreardfaam ¥ ‘fedrenmcre v’ & THR F Fefeia we
(1) e =l GHiT =1 Gf=Tehea

(2) e =1 =g e

(3) e = fawia

(4) =9 H Hag

Options :

878270152561. 1

878270152562. 2

878270152563. 3



878270152564. 4

Question Number : 82 Question Id : 87827038828 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

What is the name of the model of morphological description which sees the ‘word" as the basic unit
of analysis, operating within a set of variables or grammatically conditioned forms all declined
from a single root or stem ?

(1) Item and Process model

2) Item and Arrangement model
3)  Word Association model

(
(
(4)  Word and Paradigm model
Options :

878270152565. 1
878270152566. 2
878270152567. 3

878270152568. 4

Question Number : 82 Question Id : 87827038828 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

G WG U & Heet 91 A0 1 For e S o g o € €, Sy % U 9
B W S 0 & 981 I AR T T A ¢ o F) T oI A9 S 6 S A o

(1) e S VA i

(2) we & o wioey

(3) & Hewd e

(4) 9= A1 FE FEy

Options :

878270152565. 1

878270152566. 2



878270152567. 3

878270152568. 4

Question Number : 83 Question Id : 87827038829 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The process of gradual or sudden move from the use of one language to another, either by an
individual or by a group is called :

(I) Language spread

2

(3) Language loss
g

Language shift

Language policy
Options :
878270152569. 1
878270152570. 2

878270152571. 3

878270152572. 4

Question Number : 83 Question Id : 87827038829 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

e 1 T BT O T R ) o A - o v o e e el &
LIEIRESIE

Options :
878270152569. 1

878270152570. 2



878270152571. 3
878270152572. 4

Question Number : 84 Question Id : 87827038830 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In traditional ]jnguislic l'ennimlng}-', denotational meaning equates mughljf with :
) Figurative meaning

) Stylistic meaning

) Literal meaning

) Associative meaning

Options :

878270152573. 1

878270152574, 2

878270152575. 3

878270152576. 4

Question Number : 84 Question Id : 87827038830 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

URYIeR T YearEe |, qee &l o e HIA S ©
(1) e
(2) errTd 3
(3) unfeseh a1
(4) wEEr 1Y
Options :

878270152573. 1
878270152574. 2
878270152575. 3



878270152576. 4

Question Number : 85 Question Id : 87827038831 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In Optimality Theory, which of the following are considered important parameters for phonological
analysis ?

(1) Markedness and Faithfulness

(2

(3)  Prosody and Morphology
(4)

Rules and Derivations

Syllable and Phonological word

Options :

878270152577. 1
878270152578. 2
878270152579. 3

878270152580. 4

Question Number : 85 Question Id : 87827038831 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

gz fagia (OT) ¥ frefafaa § ¥ fre wiHfves faweme: & fou wewy aree o o &7

Options :
878270152577. 1
878270152578. 2

878270152579. 3



878270152580. 4

Question Number : 86 Question Id : 87827038832 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Let Set A={a, b} and Set B= {b, d} then AlUB would be :
(1) f{a b, c d}

2 fa b d)

(3) fa d, &b}

(4) f{a, b, b, d, &b}
Options :

878270152581. 1
878270152582. 2
878270152583. 3

878270152584. 4

Question Number : 86 Question Id : 87827038832 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
Ife TH=" A={a, b} 3IRTYEB= (b, d} &, @ AU BFN &M ?
(1) {a, b.c d}
(2) {a, b, d}
(3) f{a, d, b}
(4) f{a b, b, d, b
Options :
878270152581. 1
878270152582. 2
878270152583. 3
878270152584. 4



Question Number : 87 Question Id : 87827038833 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

In the discussion of the sub-theories of universal grammar which of the f ollowing is NOT considered
as Empty Category ?

) PRO

) NP

) NP-trace

) Pro

Options :
878270152585. 1
878270152586. 2
878270152587. 3

878270152588. 4

Question Number : 87 Question Id : 87827038833 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
HA T AR o 39-Tagidl 1 == W, 1 | § o T 4of 761 e s e
(1) W (PRO)

(2) T (NP)

() THH-¢H

(4) Pro
Options :

878270152585. 1
878270152586. 2
878270152587. 3

878270152588. 4



Question Number : 88 Question Id : 87827038834 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A morphelogical process that repeals or copies all or part of a word to pmduce a new word is
known as :
(1) Echo formation

W
3
(

) Reduplication
) Compounding
4)  Tokenization
Options :
878270152589. 1
878270152590. 2
878270152591. 3

878270152592. 4

Question Number : 88 Question Id : 87827038834 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

YETCH: YR o 71 e o o o foel o & 9ol sporn forelt o T 1 ST @1 e

Options :

878270152589. 1
878270152590. 2
878270152591. 3

878270152592. 4



Question Number : 89 Question Id : 87827038835 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The process of forming a noun from another word-class or the process of derivation of a noun
phrase from an underlying clause is :

(1)  Normalization

()

(3) Denominalization
(4)

Nominalization

Nominativization

Options :

878270152593. 1
878270152594. 2
878270152595. 3

878270152596. 4

Question Number : 89 Question Id : 87827038835 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0

for 977 Y 1 9 1 TR 7 WA A A7 S § WG % R Y
gl

Options :

878270152593. 1
878270152594, 2
878270152595. 3

878270152596. 4



Question Number : 90 Question Id : 87827038836 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

A conversational convention that a speaker’s contribution to a discourse should always have a
bearing on and a connection with, the matter under discussion is called :
(1) Maxim of manner

W
3
(

) Maxim of quality

) Maxim of quantity
4)  Maxim of relevance
Options :
878270152597. 1
878270152598. 2
878270152599. 3

878270152600. 4

Question Number : 90 Question Id : 87827038836 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

e ah foel o # et Siferr o o AT 1 9T S A W A S He W Aed TS

Options :

878270152597. 1
878270152598. 2
878270152599. 3

878270152600. 4



Question Number : 91 Question Id : 87827038837 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Two different types of lexical bm'mwmgs as pmpnsed by Charles F. Hockett, are :

(A) Cultural borrowing
(B) Loan Shift

(C) Dialect borrowing

(D) Loan translation

(E) Intimate borrowing

Choose the correct answer from the options given below :

(1) (A) and (D) Only

(2) (B) and (D) Only
(3) (B) and (C) Only
(4) (D) and (E) Only

Options :

878270152601. 1
878270152602. 2
878270152603. 3

878270152604. 4

Question Number : 91 Question Id : 87827038837 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



Aed T, Blche GRI WEaTfad Wifsss Wit & &1 i 9R € :
(A) WiEhfas SR

(B) WA 14 gfgfd

(C) el TR

(D) =TTa STFeme

(E) Wi-F= ameH

= feu 7o forredl § | W& I 1 <A Hiford;
(1) 9 (A) 3 (D)

(2) 9 (B) ¥R (D)

(3) A (B) &R (C)

(4) W (D) 3R (E)

Options :

878270152601. 1

878270152602. 2

878270152603. 3

878270152604. 4

Question Number : 92 Question Id : 87827038838 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the follnwing statements are true with respect to 'Compnunds’ as word forms ?
A) Compound words consist of a single morpheme

B) Constituents of a compound word are written with spaces between them in all the languages

(
(
(C) Compound words may change their meanings compared to their individual constituents
(D) Compound words often follow strict constituent-sequencing rules

(

E) Compound words are a linguistic phenomenon found in most languages
Choose the correct answer from the options given below :

(1) (A) (C), (D) Only

(@) (A) (B) () Only
() (©), () (E) Only
(4)  (A) and (E) Only
Options:
878270152605. 1
878270152606. 2
878270152607. 3

878270152608. 4

Question Number : 92 Question Id : 87827038838 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



&g ® o OR W o’ F gay e 9 3§ e ud §?

(A) TUM VI H U T a1 ¢

(B) T k1 EHIN Wl WIS W HHeF Vel o aiidl o €| ok 9 forn s g
(C) GO Vil & 37 Tk STCI-3TeT] T2hi i o 8 Tfatad e Tohd & |

(D) A g SgHT IR W A T ohl STTer 74 & |

(E) GO Vg J: Qoft e ¥ 18 S STl Uk ST Wieed €

Options :

878270152605. 1
878270152606. 2
878270152607. 3
878270152608. 4

Question Number : 93 Question Id : 87827038839 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Ferdinand de Saussure proposed the following two concepts.
(A) Langue

(B) Parole

(C) Diglossia

(D) Pidgin

(E) Neologism

Choose the correct answer from the options given below :

(1) (A) and (B) Only

(2) (C€) and (D) Only
(3) (D) and (E) Only
(4) (C) and (E) Only

Options:

878270152609. 1
878270152610. 2
878270152611. 3
878270152612. 4

Question Number : 93 Question Id : 87827038839 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



wiede fe arg 3 Frafafad Seead gt & of -
(A) T ()

(B) e (Hfagf)

(C) mI-ga (=rETartaan)

(D) Tafga

(E) o visg fquim

e few o fosredl § 4 | I H =9 Fif;
(1) I (A) TR (B)

(2) = (C) 3R (D)

(3) A (D) I (E)

(4) = (C) ¥R (E)

Options :

8782701526009. 1

878270152610. 2

878270152611. 3

878270152612. 4

Question Number : 94 Question Id : 87827038840 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements about formal grammar and their type in Chomsky Hierarchy
are correct :

(A) Regular Grammar (RG) is Type 3

(B) Context Sensitive Grammar (C5G) is Type 1

(C) Unrestricted Phrase Structure Grammar (UPSG) is Type 2

(D) Context Free Grammar (CFG) in Type 3

(E)  Unrestricted Phrase Structure Grammar (UPSG) is Type 0

Choose the correct answer from the options given below :

0 ), (B) (C) Only

(2) (A), (B), (D) Only
() (B);()()Onlff
(4)  (A), (B), (E) Only
Options :

878270152613. 1
878270152614. 2
878270152615. 3

878270152616. 4

Question Number : 94 Question Id : 87827038840 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



et e § Sl S 3 S0 wEn & A e § G P 9 e v §
(A) frafm = (RG) RT3 B

(B) HeM Held A (CSG) U1 |

(C) 3feaifi AR T SRR (UPSG) T892 €

(D) WY TF S (CFG) 230 3 &

(E) smfafer aTere Se ST (UPSG) 2187 0 &

9 feu o fompedl # 9 WE I A T Fifo:

(1) A), (B), ()
2) A), (B), (D)
3) B), (C), (E
(

4) A), (B), (E)

) (B), (
) (B), (
{
(

. EEEI

(
(
( ;
( :
Options :

878270152613. 1
878270152614. 2
878270152615. 3

878270152616. 4

Question Number : 95 Question Id : 87827038841 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the follnwing are correct with respect to constraints on pmductivity in word formation ?

(A) Blocking can be motivated by phonological considerations like the number of syllables in the
base word

(B) Blocking can be motivated by the phonological properties of the sound that ends the base
word

(C) The distinction between native and borrowed morphemes is not very significant in the
application of morphological rules

(D) The selection of affixes that co-occur with a particular base may be determined and restricted
by the paradigm to which the base belongs

(E)  If there are two adjectives with opposite meanings, one of which has a more positive meaning
than the other, the negative affixes normally attach to the positive adjective.

Choose the correct answer from the options given below :
(1) (4)(C) E) Only

(2 (B), D), (E) Only

G (8) (C) (D) Only

(4) (A), (B), (D), (E) Only
Options:
878270152617. 1
878270152618. 2
878270152619. 3

878270152620. 4

Question Number : 95 Question Id : 87827038841 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



W, T e R W] o gy fe G e e wi S
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(B) SR ST VI % FEIGH 1 % o i forrt 7o g o 2 w2

(C)  ursi & el S o it 1 S5 %Y ferqr Frel o gy o e wewn R ¢

(D) forelt o e fawhy ¥ Wewfed € ot oAl 1 A 36 Wl g fifea o v 2 g
& ol s el 214

() dfc woR foref e ot <) oo &, oW 8w 1 e g A sen s T ¢

I TR, e SeReAas famnow) & g 2 2
A1 feow o ferred 7 9 W@ I A T FA

() el (A) () (E)
B), (D) (E)
(

Options:

878270152617. 1
878270152618. 2
878270152619. 3
878270152620. 4

Question Number : 96 Question Id : 87827038842 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following Indian languages were part of the 30 language sample used by Greenberg
in his seminal study on “Some Universals of Grammar with particular Reference to the Order of
Meaningful Elements” (1963) ?

(A) Bangla
(B) Hindi
(C) Marathi
(D) Telugu
(E) Kannada

Choose the correct answer from the options giuen below :

(1) (A), (), (D), (E) Only

(2) (B, (E) Only
) (A). (8), (D) Only
() (), () (D) Only
Options :

878270152621. 1
878270152622. 2
878270152623. 3

878270152624. 4

Question Number : 96 Question Id : 87827038842 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



fe 9 21 W et 2T “Some Universals of Grammar with particular Reference to
the order of Meaningful Elements” (1963) % 1T fT 7T 30 7S ot o1 o 417

1447

Options:

878270152621. 1
878270152622. 2
878270152623. 3

878270152624. 4

Question Number : 97 Question Id : 87827038843 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Two of the three components of the three fold meaning relationship as proposed by C. K. Ogden
and . A. Richards include :

(A} Context
(B) Forms

(C) Referents

(D) Situation

(E) Motive

Choose the correct answer from the options given below :
(I) (B) and (D) Only

(2) (A)and (D) Only
(3) (B) and (D) Only
(4) (C) and (D) Only
Options :
878270152625. 1
878270152626. 2
878270152627. 3

878270152628. 4

Question Number : 97 Question Id : 87827038843 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



% e 9 2., fragd g viowfed reata sl gay F T TRA d 98 -

(A)

(B) ®9

(C) Wﬂzﬁ

(D)

(E) aqfwma

1 fou T foeredl § 9 W ST %1 99 FHifa;
(1) A (B) R (D)
(2) 9 (A) 3 (D)
(3) A (B) 3R (D)
(4) ¥ (C) I
Options :

878270152625. 1
878270152626. 2
878270152627. 3

878270152628. 4

Question Number : 98 Question Id : 87827038844 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements represent some of the key assumptions and claims of lexical

morphology/lexical phonology ?

(A) The lexicon is organised non-hierarchially by strata

(B) The strata is defined on the basis of the properties of the bases :

(C) Each stratum is uniquely associated with a set of affixes which share various phonological
and morphological properties

(D) Every stratum is non-cyclic with the morphological rules at each stratum subjected to
associated phonological rules in the next stratum

(E) The output of each stratum is a word

Choose the correct answer from the options given below :

(1) (A), (), (D) Only

(@ () (E) Only

() (A), (B), (C) Only

(4 (€, O) (E) Only

Options :

878270152629. 1
878270152630. 2
878270152631. 3
878270152632. 4

Question Number : 98 Question Id : 87827038844 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(D) e T T e € R e T R fet e v e A et e e 3 i
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() o TR 1 0 O I 0 ¢ |

7 feu o fomredt 9 WE S T o

(1) % (), (B), (D

Options:

878270152629. 1
878270152630. 2
878270152631. 3

878270152632. 4

Question Number : 99 Question Id : 87827038845 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



A systematically and scientifically designed corpus of a language can include :

b

(A) Written text samples

(B) Only dialogic text samples

(C) Spoken text samples

(D) Only newspaper text samples

(E) Only samples of text produced by great authors
Choose the correct answer from the options given below :
(I) (B) and (D) Only

2) (B)and (C) Only
(3) (A) and (C) Only
(4) (A)and (B) Only

Options:

878270152633. 1
878270152634. 2
878270152635. 3

878270152636. 4

Question Number : 99 Question Id : 87827038845 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A) fafad me e

F) ¥da Ter orae gr fafed el & dma
A feu o fosredl ¥ ¥ WE Sv 1 999 Fifa;
(1) a (B) 3 (D)
2 (B) ¥ (C)
(3) (A) 3R

(4) (A) HR
Options :
878270152633. 1
878270152634. 2
878270152635. 3

878270152636. 4

Question Number : 100 Question Id : 87827038846 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Cnmpnsitional semantics 1s the bujlding up of the fo]lowmg meanings from the meaning of smaller
units by means of semantic rules :

i

(A) Lexical meaning
(B) Phrasal meaning

(C) Thematic meaning

(D) Sentence meaning

(E) Associative meaning

Choose the correct answer from the options given below :
(1) (A) and (B) Only

(2) (C) and (D) Only
(3) (B) and (D) Only
(4) (D) and (E) Only

Options :

878270152637. 1
878270152638. 2
878270152639. 3

878270152640. 4

Question Number : 100 Question Id : 87827038846 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



TSR o o el Frami g e SRl o stell § fe ol o e R R E

(A) wifsc 3

(B) o Hd

(C) %A &Y

(D) = a4

(E) we=l 3
ﬂiﬁﬁqwﬁaﬁq’iﬁﬁa@mmwﬁm
(1) o (A) 4R (B
() %@ (C) 4R (D)
(3) o (B) R (D)
(4) e (D) & (E)
Options :

878270152637. 1
878270152638. 2
878270152639. 3
878270152640. 4

Question Number : 101 Question Id : 87827038847 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



According to M. A. K Halliday two important Register variables are :

(A) Duration
(B) Field

(C) Situation
(D) Tenor
(E) Context

Choose the correct answer from the options given below :
(1) (A)and (B) Only

(2)  (A)and (C) Only
(3) (B) and (D) Only
(4) (C) and (E) Only

Options:

878270152641. 1
878270152642. 2
878270152643. 3

878270152644. 4

Question Number : 101 Question Id : 87827038847 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A) ey

(B) &

(C) Teafa

(D) |

(E) s

A faw o fasredl § § WE SR 1 999 T
(1) 9 (A) iR (B)

(2) 9 (A) 3R (C)

(3) e (B) R (D)

(4) %9 (C) 3 (E)

Options :

878270152641. 1

878270152642. 2

878270152643. 3

878270152644. 4

Question Number : 102 Question Id : 87827038848 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the follnwing statements are true with reference to the spectmgraphjc properties of
vowel sounds ?

(A) All vowels are voiced, and therefore there is no presence of energy at fundamental frequency
level in a spectrographic representation

(B) Vowels are characterized by clear bonds of energy called formants
(C) Different vowels differ in their spectrographic make-up because of varying combinations of
tongue height, tongue advancement and lip-rounding features

(D) Vowel height is inversely proportional to F; value with high vowels having lower F, values
than low vowels

(E)  Lip-rounding has the effect of raising the overall energy throughout the formants

Choose the correct answer from the optians given below :

(1) (A), (C), (E) Only

(2 () (D), E) Only
() (), () (D) Only
(4) (A), (B), (D) Only
Options:

878270152645. 1
878270152646. 2
878270152647. 3

878270152648. 4

Question Number : 102 Question Id : 87827038848 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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e few o fomredl # 9 W S A T Fi
(1) @ (A), (O) (B

() % (B), (D), (E)

() @ (8),(C) (D)

() @ (4), (B), (D)

Options:

878270152645. 1
878270152646. 2
878270152647. 3

878270152648. 4

Question Number : 103 Question Id : 87827038849 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



dentify the principles put forth by Robert T. Bell (1976) with regard to Sociolinguistic investigations.

=

A)  The cumulative principle

==

I
(
(B) The agreement principle

(C) The sound principle

(D) The variable principle

(E)  The uniformation principle

Choose the correct answer from the options given below :
(1) (A) and (E) Only

(2)  (B) and (C) Only
(3) (D) and (E) Only
(4) (A) and (C) Only
Options:

878270152649. 1
878270152650. 2
878270152651. 3
878270152652. 4

Question Number : 103 Question Id : 87827038849 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A) HEree fagi
(B) sfifd fesid
(C) @i fagi
(D) X fogi

(E) wHET g
7 feu o foeredl # @ WE SRR 1 T FIC ;
(1) A (A) R (E)
(2) dd (B) 3R (C)
(3) A (D) R (E)
(4) o (A) 3R ()
Options :

878270152649. 1
878270152650. 2
878270152651. 3

878270152652. 4

Question Number : 104 Question Id : 87827038850 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Onomatopnem n sh/hetms is a feature of sound patterning r which is often thoughl to form a budge
between ' stvle and ‘content’. [t can occur ina:

lexical form

B) non-lexical form

(4)

(

(C) grammatical form
(D) non-grammatical form

(E) extralinguistic form

Choose the correct answer from the options given below :
(1) (C) and (D) Only

(2) (A)and (B) Only

(3) (B) and (E) Only

(4) (A) and (D) Only

Options:
878270152653. 1
878270152654. 2

878270152655. 3

878270152656. 4

Question Number : 104 Question Id : 87827038850 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options:

878270152653. 1
878270152654. 2
878270152655. 3
878270152656. 4

Question Number : 105 Question Id : 87827038851 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following languages are still spoken in the Andaman islands ?
(A) Kede
(B) Onge

(C) Juwai

(D) Jarawa

(E)  Sentinelese

Choose the correct answer from the options given below :

1) (©, D), (E) Only

(2)  (A), (B), (D) Only
() (B) (O (E) Only
(4) (B), (D) (E) Only
Options:

878270152657. 1
878270152658. 2
878270152659. 3
878270152660. 4

Question Number : 105 Question Id : 87827038851 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A) He

(D) I

() HfeHes

H3 faw U foreredl © © WE SR H =99 FC -
(1) %aa (), (D), (E)
(2) %99 (A), (B), (D)
(3) e (B), (), (E)
(4) %9 (B), (D), (E)
Options :

878270152657. 1
878270152658. 2
878270152659. 3

878270152660. 4

Question Number : 106 Question Id : 87827038852 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following are derivational processes in Pininian morphology
(A) kit

(B) taddhita

(C) tin

(D) samisa

(E) sup

Choose the correct answer from the options given below :
(1) (A), (B), (O Only

(2)  (A), (B), (D) Only
@) (), Q) (E) Only
(4)  (©), (D), (E) Only
Options:

878270152661. 1
878270152662. 2
878270152663. 3

878270152664. 4

Question Number : 106 Question Id : 87827038852 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A) Fd

(B) dfsd

) fa=

(D) |5H

E) 91U

H3 e o faerenl o 9 W@ S 1 <9 T
(1) 9 (A), (B), (O)

(2) %99 (A), (B), (D)

(3) e (B), (), (E)

(4) ¥4 (), (D), (B)

Options :

878270152661. 1

878270152662. 2

878270152663. 3

878270152664. 4

Question Number : 107 Question Id : 87827038853 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the following statements on stylistics or stylistic analysis is correct ?

(A) Stylistics is the study of style in only written texts

(B) Style is the consistent occurrence in the text of certain items and structures

(C) A full stylistic analysis of a text typically only looks at patterns created by long stretches of
text

(D) Stylistic analysis can be used as an aid to decide authorship of unascribed manuscripts

(E)  Stylistic analysis is an important component of sociolinguistic surveys

Choose the correct answer from the options given below :

() () (8)(0 Oy

@) (B) (©) (B Only

B (4) (), ) Only

4 () D) [ Ouly

Options:
878270152665. 1
878270152666. 2

878270152667. 3

878270152668. 4

Question Number : 107 Question Id : 87827038853 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el foq epere it ferweteon & wefel & o1 3 9 9 0 TR GRS

(A) et fom e feffim T & 91eh %1 e 2 ¢ |
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e few T foreret # B W SR T 0
(1) % (A), () (O)
(2) % (B), (C) (E)
() @ (A), (C). (D)
(4)  (B), (), (E)
Options:
878270152665. 1
878270152666. 2
878270152667. 3

878270152668. 4

Question Number : 108 Question Id : 87827038854 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The Proto Indo European form ‘esti’ becomes :

(A) asti in Sanskrit

(B) ésti in Greek

(C) ésti in English

(D) st in Latin

(E) is in German

Choose the correct answer from the options given below :
(1) (A) and (C) Only

{2) (A) and {B) On_l}
(3) (B) and (D) Only
(4) (D) and (E) Only

Options:

878270152669. 1
878270152670. 2
878270152671. 3

878270152672. 4

Question Number : 108 Question Id : 87827038854 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(A) H&paH 'R’ (asti) 97 SEAE

(B) A H QR (ésti) o S|
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(D) ©ifed | '3&q’ (ist) o9 ST 2 |

(B) WA H ‘38’ (is) o1 S & |

=1 feu T foeredi W | T SO =g HIN
(1) FEd (A) 3R (C)

(2) e (A) 3R (B)
(3) e (B) R (D)
(4) e (D) IR (E)
Options :

8782701526609. 1
878270152670. 2
878270152671. 3

878270152672. 4

Question Number : 109 Question Id : 87827038855 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The classic books edited by S. G. Thomasan are :

( ‘Languages in contact : The partial restructuring of vernaculars’
(B) ‘Contact languages : A wider perspective’

(C) ‘Dialects in contact’

(D) ‘Language contact : An introduction’

(E) ‘Contact languages : Pidgins and Creoles’

Choose the correct answer from the options given below :

(1) (A)and (E) Only

(2) (B)and (D) Only
(3) (C) and (D) Only
(4) (B)and (C) Only
Options:

878270152673. 1
878270152674. 2
878270152675. 3

878270152676. 4

Question Number : 109 Question Id : 87827038855 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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(E) ‘e wirdfay : fufsw e frarey’

A< fou T faeredi § | W& IR A 997 FHIW

(1) I (A) 3R (E)

(2) %9 (B) ¥R (D)
(3) e (C) $TR (D)
(4) e (B) 3R ()
Options :

878270152673. 1
878270152674. 2
878270152675. 3

878270152676. 4

Question Number : 110 Question Id : 87827038856 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



The humanistic appmaches to fnreign language learnjng ate called "humanishe’ because :
A)  The focus on what happens to people when they enter into an FLL situation

B) They focus on the humanistic qualities of the leamners in teaching a foreign language

(
(
(C) They focus on the psychological and social factors which promote learning
(D) They always employ a foreigner in teaching a foreign language

(

E) They allow FLL learners to interact with those people who use the foreign language as their
first language

Choose the correct answer from the options given below :

(1) (B)and (D) Only

(2) (B)and (E) Only
(3) (D)and (E) Only
(4) (A)and (C) Only
Options :

878270152677. 1
878270152678. 2
878270152679. 3

878270152680. 4

Question Number : 110 Question Id : 87827038856 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0
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(1) % (B) 4 (D)

Options:

878270152677. 1
878270152678. 2
878270152679. 3

878270152680. 4

Question Number : 111 Question Id : 87827038857 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the [U]lowing statements regarclmg different manners of articulation are correct ?

(A) |0l is produced by creating a gap between the active and passive articulator so that air can
flow continuously without any friction

(B) |k|is produced by creating a complex closure somewhere in the upper vocal tract

(C) |n| is produced by creating a complete closure in the nasal cavity but air is allowed to escape
freely through the oral cavity

(D) x| is produced with the articulators close together but not so close together to block the
airflow completely

(E) 1) is produced with a single rapid contact between one articular and another without
repetition

Choose the correct answer from the options given below :

(1) (B), (D), (E) Only

O (4)(0) [ Only

(3)  (A), (B) (D) Only

() (A),(B) () Only

Options:

878270152681. 1

878270152682. 2

878270152683. 3

878270152684. 4

Question Number : 111 Question Id : 87827038857 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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7 feu T foered # | W SO T e

() % (8) (D), ()

(2) @ (A) () (B)

() ¥ (4), ) (D)

(@ (A), (8) (O

Options:

878270152681. 1

878270152682. 2

878270152683. 3

878270152684. 4

Question Number : 112 Question Id : 87827038858 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



In lexography the labels that are used to denote ‘restrictedness’ in use of vocables may be classified
mto :

(A) Grammatically restricted

(B) Partially restricted

(C) Completely restricted

(D) Culturally restricted

(E) Lexically restricted

Choose the correct answer from the options given below :
(I) (A)and (B) Only

(2) (B) and (D) Only

(3) (B) and (C) Only

(4) (D) and (E) Only

Options:
878270152685. 1
878270152686. 2

878270152687. 3
878270152688. 4

Question Number : 112 Question Id : 87827038858 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Options :

878270152685. 1
878270152686. 2
878270152687. 3

878270152688. 4

Question Number : 113 Question Id : 87827038859 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Which of the [Ullowing statements on Natural and Formal languages are correct :

(A) Natural languages are acquired as first languages in childhood

(B) Formal languages are usually designed by people for a specific purpose

(C) Natural languages have grammars, but formal languages do not have grammars
(D) Natural languages can be suitable for any communicative goal

(E) Natural languages can have dialects while formal languages can not have dialects

Choose the correct answer from the options given below :
(1) (A), (C), (D) Only

(2)  (A), (B), (E) Only
(3) (A), (B), (D) Only
(4 (©), (D), (E) Only
Options:
878270152689. 1
878270152690. 2
878270152691. 3

878270152692. 4

Question Number : 113 Question Id : 87827038859 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



T & ST wred % ey § e 6 G PR E o i €2

(A) W T SR Yo T o w9 0 s o §

(B)  i=fieh saTd @i gRy W et T 3gcva vq SfveRfead i I ¢ |
(C) WaRd wTIei 3 S B ¢ TR, ST el % S A e ¢

(D) Wekd sToTC. fepeft oft woonener @67 o S & Hedl ¢ |

(E) W sTIal 1 afcrdl & Tehd! &, W SHTaiiich sua 1 aiferdi Tl & Wb ¢ |
% feu o forpedl # 9 WE TR 9 T FIC

(1) 9 (4), ) (D

Options :

878270152689. 1
878270152690. 2
878270152691. 3

878270152692. 4

Question Number : 114 Question Id : 87827038860 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Dell Hymes (1974) uses the word SPEAKING as an acronym for various factors with regard to his
ethnographic framework. Identify the two appropriate options :

i

(A) Speech

(B) Genre

(C) Agent

(D) Key

(E) Event

Choose the correct answer from the options given below :
(1) (D) and (E) Only

(2) (A)and (C) Only
(3) (C) and (D) Only
(4) (B) and (D) Only
Options :
878270152693. 1
878270152694. 2
878270152695. 3

878270152696. 4

Question Number : 114 Question Id : 87827038860 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0



TN e & Fad 9 e (1974) A fofoel ] & O Wfveani e (SPEAKING,) 1 T foay
12 U ferbedl ) T T
(A) ¥ (Speech)

(B) W(Geme)

(C) TsiE (Agent)

(D) # (Key)

(E) %de (Even

A feu T fomredl # B W@ T T Fio
(1) % (D) 5 (E)

(2) %A (A) & (C)

() ¥ (C) 3 (D)

() A (B) 4 (D)

Options:

878270152693. 1
878270152694. 2
878270152695. 3

878270152696. 4

Question Number : 115 Question Id : 87827038861 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Second language teaching methods fall into two broad categories They are :
The Reference approach

B) The Synthetic approach

{
{
(C) The Corrective approach
(D) The Analytic approach

(

E)  The Instructive approach

Choose the correct answer from the options given below :
(1) (A) and (B) Only

(2) (B) and (C) Only

(3) (B) and (D) Only
(4) (D) and (E) Only

Options:
878270152697. 1
878270152698. 2

878270152699. 3

878270152700. 4

Question Number : 115 Question Id : 87827038861 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



et o foreron farfirari <) forega 4fordli & et 81 3 €
(A) HeY 39rH

(B) HYTIUTcHS 3UMTH

(C) HHRIHF SUTH

(D) Taverges 3qrTH

(E) ST 3UH

A faw o fasredl § § WE SR 1 99 T
(1) 9 (A) iR (B)

(2) %94 (B) ¥R (Q)

(3) e (B) R (D)

(4) e (D) IR (E)

Options :

878270152697. 1

878270152698. 2

878270152699. 3

878270152700. 4

Question Number : 116 Question Id : 87827038862 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - 11.

List - I List - II

Book Title Author Name
(A) Semantics : The study of meaning (I) W. Frawley
(B) Semantic Structures (I) D. A. Cruse
(C) Formal Semantics : An Introduction  (III) G. Leech
(D) Lexical Semantics (IV) R. Cann

Choose the correct answer from the options given below :
(1) (A1), B)-(1), (O)-1V), (D))

(2)  (A)(I), (B)-(D), (C)-(IV), (D)-(1I)

(3)  (A)-(LV), (B)-(IID), (C)-(1I), (D)-(I)

(4)  (A)IV), (B)-(I), (C)-(II), (D)-(II)

Options:

878270152701. 1

878270152702. 2

878270152703. 3

878270152704. 4

Question Number : 116 Question Id : 87827038862 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



geit-1 9 -1 =1 fAer #ifse .

eli-1 -1

e Yitdeh e T A
(A) Semantics : The study of meaning (I) ?:Wl‘}ﬂ?ﬁ

(B) Semantic Structures (II) i FH
(C) Formal Semantics : An Introduction (1) ST, o=
(D) Lexical Semantics (IV) &’ EX|
A= feu U fesredl o | @& IR 1 = R

(1) (A, B)-(1), (OH1V), (D)-(IL)
(2) (A, (B)-(I), (C-(IV), (D)-(IT)

(3)  (A)-(IV), (B)-(II), (O)-(1D), (D)-(D)
@) (A)HIV), (B)-I), (C)-(1L), (D)~(II)
Options :

878270152701. 1
878270152702. 2
878270152703. 3

878270152704. 4

Question Number : 117 Question Id : 87827038863 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
Language Area/State
(A) Didam () Tamil Nadu
(B) Kota (II) Odisha
(C) Gallong (III) Andhra Pradesh
(D) Pareng (IV) Arunanchal Pradesh

Choose the correct answer from the options given below :
(1) (A)-(IV), (B)-(IIL), (C)~(1D), (D)~(I)

(2) (A, (B)-(D). (O)-(1V), (D)-(II)

(3) (A1), (B)-(IV), (C)-(I1L), (D)-(I)

(4)  (A)-(II), (B)~(I), (O)-(IV), (D)-(II)

Options :

878270152705. 1

878270152706. 2

878270152707. 3

878270152708. 4

Question Number : 117 Question Id : 87827038863 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 9 G-I = e sife
-1 -1

T /T
(A) feew [ aqHTTG
(B) I (I1) safem
(C) el (III) TY-T<3
(D) WA (IV) T&uT=e 9ad

= feu U fosredi § € W& IO 1 =4 HifAC
(1) (A)IV), (B)-(IL), (O)(1I), (D)-(1)

(2)  (A)-(ID), (B)-(I), (C)-(IV), (D)~(IIT)

(3)  (A)-(ID), (B)-(IV), (C)-(11I), (D)-(D)

(4) (A, (B)-(1), (O-(IV), (D)-(IT)

Options :

878270152705. 1

878270152706. 2

878270152707. 3

878270152708. 4

Question Number : 118 Question Id : 87827038864 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL
List - I List - I
Process Name
(A) Identification of part of speech of words (I}  Orthographic Annotation

and marking them in text

(B) Identification of phrases and marking (I) Grammatical Annotation
them in texts

(C) Identification of pronouns in texts and (Il) Syntactic Annotation
marking them

(D) Identification of characters and mark (IV) Anaphoric Annotation

their role in tasks
Choose the correct answer from the options given below :
(1) (AHIV), (B){IH), (O-(IL), (D)-()
1), (B)-(ID), (C)-(IV), (D)-(I

(2)  (AH )
(3) (AR, (B)-D), (CHIV), (DHI)
(4)  (AHD), BHIV), (C)(I), (D))
Options:

878270152709. 1
878270152710. 2
878270152711.3

878270152712. 4

Question Number : 118 Question Id : 87827038864 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tell-1 § elt-11 1 e i
gell-1 -1
e qm
(A) -9 H IR we H 3 fafm wm (
(B) W@ H Y@l %l TgHH 01 3% flfed &A1 (1) AT SATE
(C) T & U1 ¥ GeaH 01 3% fafgd
(D) e W Ser % Tea a1 3% faed B {
<l feu 0 foshedl H 9 W& I 957 HIC ;

(1) (AHIV), (BHII), (O-ID), (D))
(2 (AHI, B, C-1V), (D)-0)
() (A, (BI1), (C-V), D))
@) (AHD, BHIV), CFI), (D)
Options :

878270152709. 1

878270152710. 2

878270152711. 3

878270152712. 4

Question Number : 119 Question Id : 87827038865 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match the grarrmlatical them'},f pmpnsed b}r linguists.

List - I List - 11
Grammatical theory Linguist
(A) Role and Reference Grammar (I) Joan Bresnan and Kaplan
(B) Tree Adjoining Grammar (II) Robert Van Valin
(C) Case Grammar (Il) Charles Fillmore
( Lexical Functional Grammar (IV) Arvind Joshi

Choose the correct answer from the options given below :

() (A, B)-(), (©-1V), (D)D)

(2) (A1), (B)-(ID), (©)-(1), (D}-(IV)
(3) (A, (B)-IV), (C)-(I), (D)-{I)
(4)  (AN(IV), (B)-(I), (C)-(ID), (D)-(1)
Options :

878270152713. 1
878270152714. 2
878270152715. 3

878270152716. 4

Question Number : 119 Question Id : 87827038865 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 %1 Gefi-11 § e i

-1 qH-11

TeRituTes fagTd TeTfeFT
(A) T U8 T UM () SF JIETT AR R
(B) dI WESMHT UMY (II) = a9 afera
(C) =Y UM (III) = TReHR

(D) wifedehal e T (1IV) Rfdg =it
=1 feu o fawredi § 9 98 ¥R #1999 Fife

(1) (A)-(1D), (B)-(111), (©O)-(IV), (D)-(I)

(2) (A1), (B)~(1D), (C)-(I), (D)-(IV)

(3)  (A)-(1D), (B)-(IV), (O)-(IL), (D)-()

(4)  (A)(IV), (B)-(IIL), (O)-(11), (D)-(I)

Options :

878270152713. 1

878270152714. 2

878270152715. 3

878270152716. 4

Question Number : 120 Question Id : 87827038866 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List -1 List - II

Sentence Type
(A) Did you go to the market ? (I)  Interrogative request
(B) May I ask you a question ? (II) Declarative information
(C) Bring your book tomorrow. (IlT) Interrogative question
( [ have reached the station. (IV) Imperative order

Choose the correct answer from the options g'wen below :

(1) (A)-(0), (B}(I), (O)-(IL), (D)-({IV)

(2) (AR, B)-(0), (O-(IV), (D)-(I)
(3)  (A)-(IV), (B)-(I), (C)(I ) (D)-(0)
(4)  (A)-(), (BI(I), (CHIV), (D)-(I)
Options :

878270152717. 1
878270152718. 2
878270152719. 3

878270152720. 4

Question Number : 120 Question Id : 87827038866 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 9 gEit-11 =1 e s .
@.1 -11

are wHife
(A) Did you go to the market ? (I) 9ear=eh S04
(B) May I ask you a question ? (I fHeerer g=
(C) Bring your book tomorrow. (IIT) W¥AaT=ER 994
(D) I have reached the station. (IV) HTIF AR

= feu 7o foredi § | W& I 1 = ST
(1) (A, (B)-(L), (C)-(II), (D)-(IV)

(2)  (A)-(ID), (B)-(I), (C)-(IV), (D)~(IIL)

(3)  (A)-(IV), (B)-(IIL), (C)-(11), (D)-(D)

(4) (A, (B)-(1), (O-(IV), (D)-(IT)

Options :

878270152717. 1

878270152718. 2

878270152719. 3

878270152720. 4

Question Number : 121 Question Id : 87827038867 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - 1 List - II
Phases of development of Phenomenon
pidgins/creole
(A) Marginal contact (I)  The pidgin or creole is influenced at all levels

by the socially dominant language

(B) Nativization period (I)  Advanced stage of decreolization

(C) Influence from dominant language (I} Phonology tends to be of one’s mother tongue,
although uncommon sounds are avoided

(D) Continuum phase (IV) All speakers tend to use the phonology of their
mother tongue

Choose the correct answer from the optiuns given below :

(1) (AHLV), (BIIL), (O-{L), D))
(&) (AHLV), (BHI), (1), DK()
() (A)-{ID), (B, (CHIV), (D)-(1)
(@) (A, BV, (©)-{L), D)-()
Options:

878270152721. 1
878270152722. 2
878270152723. 3
878270152724. 4

Question Number : 121 Question Id : 87827038867 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



el ¥ Tl 1 e e
Tl T-I1

fifyre wron/ et qe
o T 2 =T
(A) Yo T () s &9 9 gl oo g 9ol T R fufam o
foraire s & ¢ |
B) i sy (1 fefmaremss =1 forrfeg =
() wor o § 7 () Tafm fem 1 AW # R F9h g €, e
ST ST § e o 7 €
(D) T T (IV) W1 5o F1 Jg T WGH o WRHIGTA H
T F F & ¢
1 few T ol W 9 e S 1 T A
(1) (A){IV), (B, (C)-(I), (D)-(1
() (A)HIV), (B, (C)-(), (DHI)
() (A)-{I), B)-(, ©)-1v), D))
(4)  (A){II), (B)-IV), (C)-(I), (D)-(1
Options:

878270152721. 1
878270152722. 2
878270152723. 3

878270152724. 4

Question Number : 122 Question Id : 87827038868 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List -1 List - 11
Morphological Concept Description
(A) Allomorphy ()  Classes of nouns, adjectives or pronouns in an inflecting

language which occur with the same range of forms

(B) Passive () A grammatical construction where the grammatical subject
is typically the recipient or ‘goal’ of the action denoted by
the verb

(C) Sandhi (IT) The phenomenon of alternative morphemic realization due
to different conditioning factors

(D) Declension (IV) The phonological modification of grammatical forms
which have been juxtaposed

Choose the correct answer from the options given below :

(1) (A, B)-(), (OHI), (D)-(IV)

() (A, (B)-{I), ©-IV), D))
() (AHIV), (BIIL), (©)-{1), OK)
(4) (A1), (BHIV). (C)(I), (DH{II)
Options:

878270152725. 1
878270152726. 2
878270152727.3
878270152728. 4

Question Number : 122 Question Id : 87827038868 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



L H T T A G- H T SR o e e e
T I

T 4T e
(A) 3T (1) forsfert ot s 1, forn 21 e o o < o 9 o e
feFeam &7 % 19 Wfed 2 €
(B) T (1) =Rty fo o g i foma v g ffde o 1 T
RIGERE
(C) Y (I11) ol ST 52 o HI0 Aoy EIT{oRT % o
(D) W& (IV) R &9 o T Fwa s 6wt dm
7 feu T foered # | W SO T e
(1) (AHI), (B)-{1), (CHII), (D)-IV)
(@) (AHI), (B, (C-(Iv), (D)}
() (AHLV), (B)-{), (CHI) (DHIW)
(4)  (AHD), (B-IV), (CHI), (D)
Options:

878270152725. 1
878270152726. 2
878270152727.3

878270152728. 4

Question Number : 123 Question Id : 87827038869 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL

List - I List - 11
Process Name
(A) Itrefers to a procedure for determining ()  Analogy

earlier form, generally of unattested languages

(B) It is designed to reconstructing earlier form from (II) Glottochronology
data within one language often itself a
reconstructed language

(C) If one identifies the words of the basic core (I) Comparative method
vocabulary and also the rate of loss
one could determine the time when two related
languages became independent

(D) Itis a process by which morphs, combination (IV) Internal reconstruction
of morphs or linguistic patterns are modified or
new ones are created on the pattern of those
present in a language

Choose the correct answer from the options given below :

(1) (A, B)-(IV), (CHT), (D)-0)

(2) (A, B)-(), (©)-(1), D)-IV)
G) (A0, BHIV), €D, DHI)
(@) (AHIV), (BHD), (C-(I), (D)

Options:

878270152729. 1
878270152730. 2
878270152731. 3

878270152732. 4

Question Number : 123 Question Id : 87827038869 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



a1 ¥ g1 1 e i .
ga-1 a1l

wiemar L

(A) TER GaY HHA: FEATG e & 1) W™
qdal 91 & i % fou giEa 9 2

(B) W FwiT Wk sy, Sige T R (1) sTTETesy fagm
T o i fSU T S ¥ el §9
Qe 3 foru feren e &

(C) afc ®E o Y@ Veardell o Y, 741 €Y () qerrens fafe
1 I ol e g, @ 9 78 i
el & o ST 5 TG e T g5 |

(D) T U Yleha & Forgek g0 &l o Hiem, (IV) 3T GG
g st et o 1 Tt st
Y&l o frrmion fopdt s # feera e W oo wen 21

<l fou Tu forredi § € W@ IR 1 T HIC ;

(1) (A, (BHIV), (C)-1), (D)-(I)

(2) (A, B)-(I), ©)-1), (D)-1V)

(3) (A1), (BHIV), (C)-(II), (D}-(II)

(4)  (AHIV), (B)-(I), (C-(I), (D)-(L)

Options:

878270152729. 1
878270152730. 2
878270152731.3

878270152732. 4

Question Number : 124 Question Id : 87827038870 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - I1.

List - I List - II
Phoneme Place of articulation
(A) [k ()  bilabial
B) |t (I)  palato alveolar
©) || (IlI) velar
(D) |t (IV) Dental

Choose the correct answer from the Dptinns given below :

(1) (AIV), (B)-(ILL), (O)-(I), (D)-(I1)

(2)  (A)-I), (B)-(IV), (O)-(), (D)-(II)
(@) (A)-(D), (B)-(II), (C)-(II), (D)-(IV)
(4) (A)-(1), (B)-(I), (O)-(IV), (D)-(1LI)
Options:

878270152733. 1
878270152734. 2
878270152735. 3

878270152736. 4

Question Number : 124 Question Id : 87827038870 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



-1 9 G-I = e sife
-1 -1

(A) [ O fa-sire
B) |t (1) -
) | (1) F37
(D) |t (V) g

= feu v fasredi § 9 9 39T & =9IH R
(1) (A)-IV), (B)-(II), (O)-(I), (D)-(IT)
(2) (A, (B)-(LV), (O)-(I), (D)-(IT)
() (A)-(I), (B)-(LI), (C)~(I), (D)-(IV)
(4) (A)-(ID), (B)-(I), (C)-(IV), (D)~(IIT)
Options :
878270152733. 1
878270152734. 2
878270152735. 3

878270152736. 4

Question Number : 125 Question Id : 87827038871 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Match List - I with List - IL

List - I List - I
Problems Name
(A) Problems in naming and loss of content words (]  Aphasia
(B) Loss or damage to grammatical units and structures  (II) Anomia
(C) Problems in reading a written text () Agrammatism
(D) Language processing faculty is damaged (IV) Dyslexia

Choose the correct answer from the options g'wen below :

() (AMI), B)-(), (©)-(LV), (D)}-0)
V

() (AMI), (B, (C)-(I), (D-(IV)
(3) (A, B)-(I), (C-LV), (D)-0)
(4)  (A(IV), (B)-(D), (C)-(I), (DI
Options :

878270152737. 1
878270152738. 2
878270152739. 3

878270152740. 4

Question Number : 125 Question Id : 87827038871 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Tell-1 H -1 1 e #hife
elt-1 T-1l

A T

(A) orie] e o A T € H qee (I) e (ST
(B) AT TG 7o FraEH H e AR &fd () A forerm
(C) TRl ferfiad we 1 e o wwe (IT) = foerm
(D) 11 HETER sk & et & el ¢ | (IV) &9

el feu T forredi # § e T T FIC

(1) (A}, B)-{), (C)-(Iv), (D)-(1)

(2)  (A)-(D), (B}-(1), (C)-(II), (D)-(IV)

(3)  (A)-(Im), (BHID, (©O-IV), (D)-()

(4)  (A}(V), (B)-), (C)-(I), (D))
Options :

878270152737. 1
878270152738. 2
878270152739. 3

878270152740. 4

Question Number : 126 Question Id : 87827038872 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following in the order of speech development in children :
( Vocal play

(B) Single word utterances
(C) Babbling

(D) Laughter

(E) Two word utterances

Choose the correct answer from the options given below :
(1) (A), (©), D), (B), (E)

(2) (D), (A), (©), (B), (E)

(3)  (B), (D) (A), (C), (E)
4) (O, (E) (B), (D), (A)
Options:

878270152741. 1
878270152742. 2
878270152743. 3

878270152744. 4

Question Number : 126 Question Id : 87827038872 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 2 Wrong Marks : 0

a=i1 o oreh-fag & day # fasfafad s 98 w9 | @ |

(A) @TF TEIH

(B) T g =T AT

(C) =&

(D) T&

(E) =l vI&g a7t a1

= feu U forkedi # | W& S Al =9 Hifad

() (A), (O, D), (B), (E)
2 (D) (A) (©), (B) (E)
(3)  (B), (D), (A), (O (E)
4) (©), () (B) (D), (A)



Options :

878270152741. 1
878270152742. 2
878270152743. 3
878270152744. 4

Question Number : 127 Question Id : 87827038873 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following texts in correct chronological order (older to newer)
(A) Natyasastra

(B) Kivyaprakasa
(C) Kavyamimarnsa
(D) Abhinavabharati

( Kavyadarsa

Choose the correct answer from the options given below :

(1) (A) (), (B), D), (E)

(2 (A) (B), ©), D) (B)
(3) (E), (B) (A), (D), (C)
(4) (D) (A) (©), (E) (B)

Options:

878270152745. 1
878270152746. 2
878270152747.3

878270152748. 4

Question Number : 127 Question Id : 87827038873 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



frefafaa Teeli % 98 FERraER W@ : (TH 8 73 Fi 3R)
(A) RIS

(B) HATHNI

(C) HTHHEHE

(D) ST

(E) ahreamey

=1 feu T foehedi H§ | Wet STY o 99 Hifel
(1) (A) (©), (B), (D), (E)

(@) (A) (B), (©), (D), (B)

3) (E), (B), (A), (D), (©)

4 (D) (A), (©), (B), (B)

Options:

878270152745. 1

878270152746. 2

878270152747. 3

878270152748. 4

Question Number : 128 Question Id : 87827038874 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following languages spoken in India according to their speaker strength (higher to
lower) in India (as per the census of India report, 2011)

(A) Gujarati

B) Kannada

C) Malayalam

D) Odia

E) Punjabi

Choose the correct answer from the options given below :

1) (A)6)©) O) E)

(
(
(
(

@ (&), D) E) ®) ©
() (A), (8) D) (), ()
(@) (&), (C), D) B) E)



Options :

878270152749. 1
878270152750. 2
878270152751. 3
878270152752. 4

Question Number : 128 Question Id : 87827038874 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

R ATl S el et sToTeft 1 9 H 3% ater el ¥ 1 He o e Hed w9 H
(9 1 SO fiOre, 2011 % SFEW)

(4) T

B) #¢
(C) e
(D) e
)
e fow T forfedt o 9 W@ S 1 99 I

Options:

878270152749. 1
878270152750. 2
878270152751. 3
878270152752. 4

Question Number : 129 Question Id : 87827038875 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0

The order of development in the writing system is as follows :
(A) Pictographic

(B) Ideographic

(C) Logographic

(D) Syllabic

(E) Alphabetic

Choose the correct answer from the options given below :

(1) (B), (A), (D), (E), (O)

2) (A), (B), (©), (D) (E)
3)  (©, (B) (A), (E), (D)
(4) (A), (Q), (B), (B), (D)

Options :

878270152753. 1
878270152754. 2
878270152755. 3

878270152756. 4

Question Number : 129 Question Id : 87827038875 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



E JOTe 1 el fashrd o e €

(A) TesrerEs

(B) wrEeTEd

(C) vsaf=e o

(D) =T&IEF oA

(E) avi-orEA

= fou o fasredi § 9§ W& STR 1 999 i
(1) (B), (A), (D), (E), (O)

(2 (A) (B), (©), {D (E)
@) (©), (B), (A), (B), (D)
) (A) (O, (B), {E) (D)
Options:

878270152753. 1
878270152754. 2
878270152755. 3

878270152756. 4

Question Number : 130 Question Id : 87827038876 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the fullnwing nasal sounds in a sequence from back to forth plﬂce of articulation :

A) i

(

(B)

(€) m

(D) n

E) n

Choose the correct answer from the options given below :
(1) (A), (B), ©, D), (E

(2)  (C), (D), (B), (A) (E

(8) (), (4), E), D), (€

4 ®), E @A) D) (©



Options :

878270152757. 1
878270152758. 2
878270152759. 3

878270152760. 4

Question Number : 130 Question Id : 87827038876 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
Freferfed e sl o gv= § 31 ISR T9E 6 % | W
(A) =
(B) ¥
€) H
(D)
() O
13 few T forrel 9 4 WA IR 1 < H
(1) (A), (B), (©), (D), (E)

(2 (©), (D) (B), (A) (E)

(3) (B), (A), (B), (D), (O)

(4) (B), (E), (A), (D), (O)
Options:

878270152757. 1
878270152758. 2
878270152759. 3

878270152760. 4

Question Number : 131 Question Id : 87827038877 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following theories in the Indian literary poetics in the correct chronological order
(from older to newer)

(A} Dhvani
(B) Rasa
(C) Vakrokti
(D) Riti

(E) Aucitya

Choose the correct answer from the opliuns gi\f en below :

(1) ()6 © ) E

Options:

878270152761. 1
878270152762. 2
878270152763. 3
878270152764. 4

Question Number : 131 Question Id : 87827038877 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



R shremeel & Frefafed fagid St 98 FesraEr (T ¥ 90 # R) W)
(A) &

(B) ™

(C) =i

(D) fa

(E) sifa™

el feu o faskedl # 9 W& IR H 59 FWC ;
(1) (&), (®), € D) (E)

(2)  (B) (D) (A) (C), (E)

(3) (), (A) D) (©) (E)

( /|

[ F
’ r
! f

=

4)  (C), (A), (D), (E), (B)
Options:
878270152761. 1
878270152762. 2
878270152763. 3
878270152764. 4

Question Number : 132 Question Id : 87827038878 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the following landmark publications in linguistics in the chronological order of their
publication (older to newer)
(A) Eugene Nida's 'Morphology’
(B) Noam Chomsky’s ‘Remarks on nominalization’
(C) Leonard Bloomfield’s ‘Language’
(D) Charles | Fillmore’s ‘The case for case’
Joseph Greenberg’s ‘A quantitative approach to the morphological typology of languages’

(E)
Choose the correct answer from the opllnns gwen below :

(U (A)©), ®) 0) E
@ (@A) (E)© 6 0
3 © @) © ®), D)
@ Q) (A), E) D) (B)

Options:

878270152765. 1
878270152766. 2
878270152767.3

878270152768. 4

Question Number : 132 Question Id : 87827038878 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



e B Wt e Teey T B ST TN F Fher M (T 8 W) |
(A) 7S TSI 1 A

(B) A a1 fomd i e

(C) TE wHeE A’

(D) e o e 1 ‘2 o i '

(E) e Yiert o1 "0 Fifeefed T 2 € Hipleirehe SRS i e

4 fou T ol § 9§ W@ S A T i

(1) (@A), ®), D) E

@ (@A) ® © @) D)
3 (. (4) ©. ) [O)
@ (© (), E) D) @)
Options:
878270152765. 1
878270152766. 2
878270152767. 3

878270152768. 4

Question Number : 133 Question Id : 87827038879 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Arrange the following concepts in the chronological order in which they appeared : (older to
newer)

(A) X-bar theory

(B)  FirstSound shift

(C) Neogrammarian Hypothesis

(D) Law of aspirate dissimilation

(E) Social motivation of sound change

Choose the correct answer from the options given below :

1) A)6)©) ) E)



Options :

878270152769. 1
878270152770. 2
878270152771.3

878270152772. 4

Question Number : 133 Question Id : 87827038879 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
feferad Saemol 1 37k UfuTed & Fel el %H H W | ([ § U H 3R)
(A) XN @
(B) T HREe fre
(C) frammfeE eeddfeg
(D) @ s ufeqee feediferm
(E) HIe HifeayH 3 WEE o

Options:

878270152769. 1
878270152770. 2
878270152771.3

878270152772. 4

Question Number : 134 Question Id : 87827038880 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange the books in the chronological order of publication [titles in quotes, Author name in
brackets]

(A) 'Translation and web localisation’ [M. A. Jimenez crespo]

(B) 'Translation and migration’ [M. Inghilleri]

(C) A linguistic theory of Translation’ [J. C. Catford]

(D) ‘Translation and Identity” [M. Cronin|

(E) ‘Translation and Empire : Positional Theories Explained’ [D. Robinson]

Choose the correct answer from the options given below :

() ), (D) (B) () (4)

@ () () (A), () (B)
(3) () () E) A4) ©
(@) (©, () D), (A) ()
Options :

878270152773. 1
878270152774. 2
878270152775. 3

878270152776. 4

Question Number : 134 Question Id : 87827038880 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



foefetfee TR %1 S AR o TE) HCHRUER T [ 1T 35 o % i fon € o
oG 1 AW S B {7 T )

(A) 'R 0E 39 e [T, e g

B) ‘219 g TV [, Feer]

C) 'ufafiafies 2 i 2’ [, 2w

D) ‘g9 g amgefefe’ (W, i)

) ‘oo U3 TR : T i et s [, i)
el e T foehedl § ¥ WE SR H T I

() () D) ) (© @)

(
(
(
(

Options :

878270152773. 1
878270152774. 2
878270152775. 3

878270152776. 4

Question Number : 135 Question Id : 87827038881 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Arrange chronologically (older to newer) the following landmark publications in the area of
phonology and phonological investigations :

(A) Noam Chomsky and Morris Halle’s "The sound pattern of English’

(B) Nikolai S. Trubetzkoy's ‘Grundziige der Phonologie” (principles of phonology)

(C) John Goldsmith’s Auto segmental and mefrical phonology’
(

) Roman Jakobson, Gunnar Fant and Morris Halle's ‘Preliminaries to speech analysis : The
distinctive features and their correlates’

(E) Otto Jespersen’s Fonetik

Choose the correct answer from the options given below :
(1) (E), (B), (D), (A), (C]
2) (), () (D), (C), (A
), (D), (B, (A), (C
B), (D), (E), (C), (A)

Options :

(
(
(

878270152777. 1
878270152778. 2
878270152779. 3

878270152780. 4

Question Number : 135 Question Id : 87827038881 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



wfm fom o wifafier el & 1 % e fraferan v e 31 s aen @ (TH 3 7
3 &) |

(A) 7w TR R Wi ' TR e et S’

(B) PR 09, 2o 1 et 0 el (i ot & i)

(C) A ey & * sieifHea g Hedel BHaS

(D) T STepTeA, T e o wifew e a1 ‘< foferet 2 e et ¢ fefiefra wied g
(E) 2 TR H Bl

1 few T ol W 9 e S 1 T A

(1) (E) (B)( (A) ©

)

Options:

878270152777. 1
878270152778. 2
878270152779. 3

878270152780. 4

Question Number : 136 Question Id : 87827038882 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) :  Dubbing involves replacing the original soundirack containing the actors’ dialogue
with a target language recording that reproduces the original message

Reason (R):  Voice-over involves reducing the volume of the original sound track to a minimal
auditory level, in order to ensure that the translation, which is orally overlapped
onto the original soundtrack, can be heard by the target audience

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) s correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options:

878270152781. 1

878270152782. 2

878270152783. 3

878270152784. 4

Question Number : 136 Question Id : 87827038882 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



:ﬂﬁﬂwﬁqw%:

TR (1) S (Fa) H SAATeH % o o1 7ol WEecH 1 716 T W e Hed T 39
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T (1) ; AT ¥ YA YR AW (A 2T 907 TR G W (o671 0 ¢ 0k 7R
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% e 3 T |

IR FH F A B, 7 feu - fomred o @ W@ S 9 #ifa

(1) e (1) S hem (1) T 7 €

() e (1) 4 o (1) S o

(3) T (1) T ¢, e oM (1) 9 &

(4) R (1) 59 &, CifeR e (II) ¥4 ¢

Options:

878270152781. 1
878270152782. 2
878270152783. 3

878270152784. 4

Question Number : 137 Question Id : 87827038883 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (I) : ~ As a result of contact induced typological change, Brahui, a Dravidian language
has partly abandoned the Dravidian mode of expression (participles) at higher
levels of syntax such as those governing the conjunction and embedding of
sentences

Statement (II) : As a result of contact induced typological change, Romany, an Indo-Aryan
language has adopted the dominant SVO order of easten Europe along with a
system of verbal prefixes

In the light of the above statements, choose the most appropriate answer from the options given

below

(1) Both Statement I and Statement I are correct

2)  Both Statement I and Statement II are incorrect
3

4)  Statement I is incorrect but Statement Il is correct

(
(3)  Statement [ is correct but Statement II is incorrect
(

Options:

878270152785. 1

878270152786. 2

878270152787. 3

878270152788. 4

Question Number : 137 Question Id : 87827038883 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



1 & o e o € < o aneemert (A) % v fiofm & 0 I @ (R) F w9 R

AR (A): W ST Tl Ofta o ooy gfag o o 4 o e o e
T i R % e oR e ¥ W i m afven 9 o vl
(e feramt) =1 3w @ fean

T (R): O I T U o T 3UE1-TA T AR e v #
Ol < §I9-19 el 409 % FE THellell 9 o S |

TR FoF F e 8, A fon T fomred F 9 W S T i

(1) S (A) 3 (R) 5@ & 4 (R), (A) 3 Wl & §

(2) T (A) 3 (R) T & WA (R), (A) F W e T §

() (A) T E o (R) T &

(4) (A) T T & o (R) T &

Options:

878270152785. 1
878270152786. 2
878270152787.3

878270152788. 4

Question Number : 138 Question Id : 87827038884 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : Lehmann (2005 : 121) points that, traditionally “tautology and pleonasm are
kinds of redundancy”

Reason (R) :  The distinguishing factor between tautology and pleonasm is defined in terms of
antonymy and meronymy relations between two constituents

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2)  Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) is not correct but (R) is correct

Options:

878270152789. 1

878270152790. 2

878270152791. 3

878270152792. 4

Question Number : 138 Question Id : 87827038884 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

1 & o e o €« o et (A) % v fofi & g0 S @ (R) F w9 R

AW (A): TR (2005 : 121) Fd ¢ foF OO ® 9 " EER o IR W TR A
Ffafa ¢l
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(1) A (A) 37 (R) T& & o (R), (A) 1 58 A §

() o (A) 3 (R) FE & A (R), (A) 1 W R T &

() (A)T & oA (R) TE I

(4) (A) I T & off (R) ¥&1 €



Options :

878270152789. 1
878270152790. 2
878270152791. 3

878270152792. 4

Question Number : 139 Question Id : 87827038885 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Given below are two statements : one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A) : In the study of language ideologies, essentialism refers to the idea that people
tend to see social groups as made up of people who share certain traits that are
immutable and essential to their nature

Reason (R):  An important central concept in the study of ideologies is the sociolinguistic
hierarch}i. Linguistic varieties in a society are not all considered socially equal
but are hierarchiall}i ranked in terms of their social value

In the light of the above statements, choose the most appropriate answer from the options given
below :

(I) Both (A) and (R} are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(3) (A) s correct but (R) is not correct

(4)  (A) is not correct but (R) is correct

Options:

878270152793. 1

878270152794. 2

878270152795. 3

878270152796. 4

Question Number : 139 Question Id : 87827038885 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 2 Wrong Marks : 0
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(1) @ (A) 3 (R) 5 & o (R), (A) 1 5 @ §

() o (A) 3 (R) T § A (R), (A) F 5E e T &

() (AT E o (R) T &

(4) (A) ¥ T E o (R) T ©

Options :

878270152793. 1

878270152794. 2

878270152795. 3

878270152796. 4

Question Number : 140 Question Id : 87827038886 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0



Given below are two statements :

Statement (I) : Two areasrelated to speech in the left hemisphere are named after the neurologists
who studied them : One is called Broca’s area and the other is called Wernicke's
area

Statement (II) : Aphasia is a speech disturbance due to injury or other kind of damage in the
brain. Broca’s aphasiacs have comprehension problems whereas Wernicke's
aphasiacs basically have fluency problems

In the light of the above statements, choose the most appropriate answer from the options given
below

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement II are incorrect
(3)  Statement [ is correct but Statement II is incorrect
(4) Statement I is incorrect but Statement Il is correct
Options:

878270152797. 1

878270152798. 2

878270152799. 3

878270152800. 4

Question Number : 140 Question Id : 87827038886 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Sub-Section Number : 2
Sub-Section Id : 8782701633
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 87827038887 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension



Read the following passage and answer the questions :

There is no doubt that field linguistics should increase efforts toward more representative corpus
collecting when carrying out documentary field work, Ultimately, when extensive copora of all languages
of the world have been gathered, the difference between corpus collecting adequate for corpus linguistics
and documentary linguistics would become Jess important, but that goal is pie in the sky. We will
probably never reach it.

Corpus collecting and documentary fieldwork are also different from the point of view of
archiving. Archiving involves the procedures ensuring the preservation and continued availability of
linguistic data. When collecting materials for a corpus, sampling techniques are important, and of
course only what is sampled can be archived. One example of an archived linguistic corpus is the
Archive de Lenguas Indigenas de Mexico, eg. MacKay and Trechsel (2005) for Misantla Totonac. When
collecting materials in documentary fieldwork, the linguist is less selective, especially in the case of
endangered languages where anything thatcan be collected is preserved archivally. Examples of archives
which contain the results of documentary fieldwork are the Archive of Indigenous Languages of Latin
America (AILLA, University of Texas at Austin), the archive of the Alaska Native Language Centre,
(ANLC, University of Alaska, Fairbanks), the DOBES endangered languages archive (Max Plank Institute,
Nijmegen, The Netherlands), and the pacific and Regional Archive for Digital Sources in Endangered
Cultures (PARADISEC, Australia).

We have pointed out that archiving implies preservation techniques. Lehmann (1999:10)
points out that in other sciences such as archaeology (artifacts) or zoology (preserved specimens) highly
socialized techniques have been developed to preserve artifacts or specimens, and he laments the fact
that such techniques do not yet exist in linguistics. He states: “we need to develop a culture of the
linguistic datum and its processing”. However, this point raises the question of whether a language can
usefully be preserved like an archacological specimen, and the related ethical question of whether this s
what native speakers or native speaker communities really want for their languages.

Sub questions

Question Number : 141 Question Id : 87827038888 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Why do we need sampling techniques for corpus collection ?

(I)  Only sampled materials can be achieved

(2) Sampling techniques are not required for documentary fieldwork

(3) If sampling techniques are not used then corpus can not be collected

(4) Linguists trained in sampling techniques do a better job in corpus collection

Options :
878270152801. 1

878270152802. 2



878270152803. 3

878270152804. 4

Question Number : 142 Question Id : 87827038889 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Why is archiving of collected linguistic data important ?
(1) Archiving ensures preservation of linguistic data
(2)
(3) Archiving ensures availability of linguistic data
(4) Both (1) and (3)

Al'chiving ensures ]jnguisljc anal}rsis

Options:

878270152805. 1
878270152806. 2
878270152807. 3

878270152808. 4

Question Number : 143 Question Id : 87827038890 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Why is the linguist less selective in collecting data for endangered languages ?

(I) Due to data paucity in endangered languages there is a motivation to collect and archive
anything that is available

(2)  Due to poor availability of data informants in endangered languages

(3)  Because there is data abundance in endangered languages

(4)  Because endangered languages lack necessary technology for data collection and archiving

Options:

878270152809. 1

878270152810. 2

878270152811. 3



878270152812. 4

Question Number : 144 Question Id : 87827038891 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 2 Wrong Marks : 0

Why do the archiving techniques in fields like linguistics may differ from those like archaeology ?
(I)  Archaeology has developed highly specialized techniques

L‘mguists have not develnped as specia]jzed tedquues of archiving as other sciences

2)  Linguistic data is different than archaeological specimen
3)
4)  Native speakers do not want to preserve their language

(
(3
(4
Options :

878270152813. 1
878270152814. 2
878270152815. 3

878270152816. 4

Question Number : 145 Question Id : 87827038892 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which of the following archives is NOT listed as an example of documentary field work data ?

(1) ANLC

(2) AILLA

(3)  Archivo de Lenguas Indigenas de Mexico
(4) PARADISEC

Options:

878270152817. 1
878270152818. 2
878270152819. 3

878270152820. 4



Question Id : 87827038887 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension
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Question Number : 142 Question Id : 87827038889 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 2 Wrong Marks : 0
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878270152805. 1
878270152806. 2
878270152807. 3
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Question Number : 143 Question Id : 87827038890 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Question Number : 144 Question Id : 87827038891 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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878270152813. 1
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Correct Marks : 2 Wrong Marks : 0
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878270152817. 1

878270152818. 2

878270152819. 3

878270152820. 4

Sub-Section Number : 3
Sub-Section Id : 8782701634
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Is Section Default?: null
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Question Label : Comprehension



Read the following passage and answer the questions :
The division into macto and micro- sociolinguistics, which goes back to the 1960s also applies to the
study of the past. In a nutshell, macro-sociolinguistics is concerned with the sociolinguistics of society,
issues such as societal multilingualism, language policy and standardization, whereas micro-
sociolinguistics typically focuses on the sociolinguistics of language, the influence of social interaction in
language use (Fasold 1984, 1990). Four sociolinguistic paradigms are commonly distinguished, based
on their objects of study, and form a continuum between the macro- and micro-perspectives : The
sociology of language, social dialectology, interactional sociolinguistics, and the ethnography of
communication.

The sociology of language is a line of enquiry where a sociolinguistic paradigm cuts across
the synchrony/ dichrony divide, and research can reach quite far back in time. McColl Millar (2010)
discusses the macro-sociolinguistic history of Europe from the first written evidence untill 1500, He
shows how comparable linguistic circumstances can give rise to quite different linguistic authorities and
identities, depending on varying sociolinguistic conditions and the fluctuation between diversity and
hegemony.

Burke (2004) concentrates on the period between the invention of printing (c. 1450) and the
French Revolution (1789) with a focus on the linguistic construction of communities of different kinds,
from nations, regions, churches, and occupations to the international learned community, the ‘Republic
of Letters'. He notes that individuals were typically members of several communities, some of them in
competition or even in conflict. One of the linguistic melting pots was the polyglot armies of the period.
For example, the international military language of the Thirty years' war, current from Poland to Portugal,
was based on Romance vocabulary and was transmitted to Sweden and Eastern Europe. Much of this
evidence can be retrieved from historical lexicological studies (Burke 2004 : 129-30).

Sub questions

Question Number : 146 Question Id : 87827038894 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Macro-sociolinguistics is concerned with
(1) Military language

(2) Learned community

(3) Invention of printing

(4) Sociolinguistics of society
Options :

878270152821. 1
878270152822. 2
878270152823. 3



878270152824. 4

Question Number : 147 Question Id : 87827038895 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Micro-sociolinguistics focuses on

(1) Sociolinguistics of letters

(2) Sociolinguistics of language

(3) Linguistic identity

(4) Standardization

Options :

878270152825. 1

878270152826. 2

878270152827.3

878270152828. 4

Question Number : 148 Question Id : 87827038896 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Who discusses the macro-sociolinguistic history of Europe ?
(1) Burke

(2) Fasold

(3) Mc Coll Millar

(4) George Miller

I

Options:

878270152829. 1
878270152830. 2
878270152831. 3

878270152832. 4



Question Number : 149 Question Id : 87827038897 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

Which is considered as the linguistic melting pot ?
(1) Sociolinguistic paradigms

(2) Polyglot armies

(3) Lexicological studies

(4) Republic of letters

Options :

878270152833. 1

878270152834. 2

878270152835. 3

878270152836. 4

Question Number : 150 Question Id : 87827038898 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0

The international military language of the thirty years war is based on vocabulary,
(I) Portuguese

(2) Polish

(3) Romance

(4) English

Options :

878270152837. 1
878270152838. 2
878270152839. 3

878270152840. 4

Question Id : 87827038893 Question Type : COMPREHENSION Sub Question Shuffling Allowed

: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :



None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Question Label : Comprehension
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Question Number : 147 Question Id : 87827038895 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Minimum Instruction Time : 0

Correct Marks : 2 Wrong Marks : 0
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Question Number : 149 Question Id : 87827038897 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Correct Marks : 2 Wrong Marks : 0
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Question Number : 150 Question Id : 87827038898 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Correct Marks : 2 Wrong Marks : 0
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